8/30/24, 11:16 AM

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Id : 5330728242 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Question Label : Comprehension

g28.digialm.com/CAE/viewHtmIPDFAction.action

National Testing Agency

101 Sindhi 29th Aug 2024 Shift 1
101 Sindhi
2024-08-29 20:19:13
180
300
Yes

Sindhi and General Paper
1
53307252

General Paper
533072110
1
Online
Mandatory
42
42
100
0
1
533072326
No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

1/266



8/30/24, 11:16 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

The following table presents the number of sports shoes produced by seven different companies A-
G (in lakh) along with the percentage (%) of sports shoes rejected and percentage (%) of sports
shoes sold by these companies during the years 2022 and 2023. Based on the data in the table,
answer the questions that follow.

Company-wise details of sports shoes

Year 2022 Year 2023
Company | Number |Rejected | Sold | Number | Rejected | Sold

(inlakh) | (%) | (%) |(@nlakh)| (%) | (%)
A 25 3 65 33 4 2
B 26 5 88 30 3 76
i B 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330728243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the production of sports shoes by company C from the year 2022 to
2023 ?

(1) 15375 %
(2) 20.625 %
(3) 15.625 %
(4) 10.625 %
Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330728244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the sale of sports shoes by company F from the year 2022 to 2023 ?
(1) 12 %

(2) 25 %

(3) 15 %

4 20 %

Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 5330728245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the total number of rejected sports shoes from all the companies together in year 2022 ?
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330728246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Total number of sports shoes sold by all companies in year 2023 is approximately % of
the total number of sports shoes produced by all the companies in that year.
(1) 84

(2) 79

3) 72

4 75

Options :

1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 5330728247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Percentage rise in the production of sports shoes from the year 2022 to 2023 is more than 25 % for
exactly .~ companies.

1 2

2)

(3)
(4)
Options :
1.1

2.2

3.3

4.4

3
4
5

Question Id : 5330728242 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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T aferst # | 391 shafar (A-G) g1 &6 2022 9 99 2023 H Iedifed @l 3 S[di 1 He&Al (T H),
ST W o Sl o Ui eI sufEl gR = e Aa & Sl o gfave (%) fem ma ®1 @i | uew e
& BTN W, &I % YA F I I |

@l & S[Al T HuAl-ar faawor
e 2022 e 2023
— FET 31%%;‘1@ ﬁﬁ;ﬁ JAE | adted| fadst

()| (%) (%) |(mmmd)| (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 3 76
¢ 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
& 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330728243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SOl C g1 99 2022 ¥ 2023 H Ie1ed Wel o S[di § 9fawd gfs fadi &7
(1) 15375 %
(2) 20.625 %
(3) 15.625 %
(4) 10.625 %
Options :
1.1
2.2

3.3
4.4

Question Number : 2 Question Id : 5330728244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FU F g ad 2022 § 2023 H 99 T B F i § e wfova afg g €7
(1 12%

(2 25%

(3) 15 %

(4) 20 %

Options :

1.1

2.2

3.3
4.4

Question Number : 3 Question Id : 5330728245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Fu 2022 H |t FUET 1 et sraigd W & Sl o Fo G fohal § 2
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330728246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

geft FafTdi g ad 2023 # fasl forw T @a & 941 1 Fol G 9 a4 J gl Fufd g senfed

B % Sl 1 A G T AT % T
(1) 84
(2) 79
(3) 72
() 75
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330728247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 2022 ¥ 2023 H WeT T @i F Scured H g8 wiavea gfg S-S FHafa o fw 25 % §
a1 B
(1)
(2)
3)
(4)
Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 533072327
Question Shuffling Allowed : Yes

Ul = W N

Question Number : 6 Question Id : 5330728248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To teach a particular topic a teacher first gives the students to watch the pre-recorded video of the
lecture at home and then engages the students in discussions and problem solving activities in the
class. This is an example of :

(1) Lecture-demonstration
(2) Flipped classroom

(3) Asynchronous learning
(4) Synchronous learning
Options :

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 5330728248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forarer ek fafire fomg o fraror & forg faenfei=i =1 sarem ged g9 1 ferte oy 7o sifedl gead =«
S o ToTU ST 8 31 3Hek 918 el H F=is] ao SHe-FAeE niafati 1 gimted w g1 78 feww
Teh 3TV © ?

(1) = feyE

(2) Ul e (TRre o ®9)

(3) FrERERIfcTR S

(4) HeEHIcTH AR

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330728249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component of Baddeley’s basic working memory model is involved in the task of Rapid
repetition of the word like “See-Saw” ?
(1) Visuospatial sketchpad

(2) Bounded rationality

(3) Phonological loop

(4) Meta-cognition

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330728249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-1 (See-Saw) S0 ¥Ieg 1 dl § TR & FE H o F NURYD FEAF Wia Aiee F1 FHE
Hees vfaa 7
(1) Tosereiirae Fais
(2) YRz Ffgarea
(3) @ o
(4) SAY-HIA (HTHITIA)
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 5330728250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants his students to watch pre-recorded videos and answer questions embedded in the
videos. Which tool would be most suitable for this purpose ?

(I) Edpuzzle
(2) Evernote

(3) Google Docs
(4) Strawpoll
Options :

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 5330728250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

us e <rear ® for o faenedf qd # fate foru o =fifed =01 S =ik Sifes & af=fea ool s E |
39 WA &% fau a1 3U (26) Faifees STgE 2 ?

(1) TeYse

(2) TSR

(3) T S
(4) =

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 5330728251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

(A)
(B)
©
(D)

List - I

(Swayamprabha Channel No.)

Channel :
Channel :
Channel :
Channel :

04
05
06
07

g28.digialm.com/CAE/viewHtmIPDFAction.action

(D)
(D)
(1)
(IV)

List - II
(Name)
Kautilya
Vidhik
Prabandhan

Saaraswat

Choose the correct answer from the options given below :
(A)-(1), (B)-(1D), (C)-(1V), (D)-(I)
(A)-(1V), (B)-(IIL), (O)-(1D), (D)-()
(A)-(I), (B)-(II), (C)-(IIT), (D)-(IV)
(A)-(1D), (B)-(IV), (O)-(I), (D)~(1I)
Options :

(M
@)
(3)
4)

1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 5330728251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heil-1 9 gEi-11 =1 fHer wifsg

(A)
(B)
(©
(D)

Tei-1

( TTEAUMT S W)

= 04
a9 : 05
= : 06
=7 = 07

@
(D)
(1)
(Iv)

-1
(9m)
FHifeeH
Tafver
PEDE]

T

Ao fou 7o fasredi 9 WE ST H 99 FifST ;
(A)~(II), (B)-(II), (O)-(IV), (D)-(I)
(A)AIV), (B)~(ILT), (C)(11), (D)-(I)
(A)-(D), (B)~(1I), (C)-(IIL), (D)-(IV)
(A)-(1D), (B)-(IV), (C)-(I), (D)~(1ID)

(L
2
(3)
4)

Options :

1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 5330728252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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An instructor uses portfolio assessments in an art class. What key components should be included
in the students” portfolios ?

(A) Collection of completed art works

(B) Reflective essays on their creative process
(C) Standardized test scores

(D) Peer feedback and critiques

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (A), (B) and (D) Only

(3)  (A)and (C) Only

4) (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 5330728252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U TSV Fell i el B GeRifer Yoais i wga Fa ¢ | faenfeiEi % uewifedi § R v gew
1 wiwfer faman st = ?

(A) Ul FHeHiaAl = HIE

(B) ITeh! guMTeHe Uiehan WX feawia ey
(C) WFehIgha II&T0T JTeiich

(D) TR = gfagfee $TX gwTe=Hm

= feu o fasredi 9 W& ST T T HST
(1) %9 (B) 3R (O)

(2) & (A), (B) 3R (D)

(3) ae (A) 3R (O)

(4) a4 () ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330728253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentages of s'uznjlarity
in a research article would result in debarring a university teacher from supervising a PhD. Student
for a period of two years ?

1 27 %
) 38 %
(3) 44 %
4) 65 %

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 9/266
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Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330728253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifefers =k & a) #9514, fafFaaa 2018 % F8R fodl vy o § g9 o T gfaera & S
<1 a4 = efafy o fow 9w el fornet & gdasmr @ favafawmea & foees #1 sfea fen smom ?

(1) 27 gfaera

(2) 38 wfaerd

(3) 44 yfaerd

(4) 65 gfaerd

Options :

1.1

2.2

3.3
4.4

Question Number : 12 Question Id : 5330728254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful in showing
association between two variables ?
(I) Ogive

(2) Pie charts

(3) Histogram

(4)  Scatter plots

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330728254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa o & FmE fafa oo % crafafa fegw & fou < =/i % o= day 3ot % foa syEr a@nf 2
(1) =raferkui (rsiEe)

(2) W=

(3) ored faa (fewdnm)

(4) Tomvl oM (TRt wizd)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330728255 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 10/266
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Correct Marks : 2 Wrong Marks : 0
Identify the threats to internal validity.
(A) Selection threat
(B) Maturation threat
(C) Attrition threat
(D) Testing threat
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
() (B), (O) and (D) Only
(3)  (A), (C) and (D) Only
(4)  (A), (B), (O) and (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 13 Question Id : 5330728255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

stidfeas Ao % o @l F e Hfe
(A) =& HaH gl (Fela 92)

(B) v el wat (FeRYE 92)

(C) HeHur Haeh T (Tfe 92)

(D) W& el wat (2RET 92)

== fau e fasredi § 9 Wa ST & 99 FHIfA
(1) = (A), (B) &R (C)

(2) = (B), (O) ¥R (D)

(3) FFE (A), (O ¥R (D)

4) (A), (B), (C) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330728256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 11/266
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Arrange the datasets with the following means (¥ ) and standard deviations(o) in decreasing
order of their coefficients of variation.

(A) o0=43, X =138

(B) o=3.8, x =127

(C) o=5.7 x =149

(D) o=4.7, x =14.1

Choose the correct answer from the options given below :
1) (A), (B), (C), (D)

(2 (B), (), (D), (A)

@) (©), (D), (A) (B)

@) (D). (A) (B), (©)

Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 5330728256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<1 gl # freafafes mei () ot e foeml (o) % | 3T foaerm qoies % =ed w0 1 sraftad
FifeTg

(A) o=43, ¥ =138

(B) ¢=38, x =127
(C) =57, X =149
(D) o=47, X =141

= fou o fasked § 9 W& ST F 991 FfAC
(M (A), B), (O, (D)

2 (), (O (D), (A)

(3) (©, (D), (A), (B)

(#) (D) (A) (B), (©

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 5330728257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/266
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Match List - I with List - I1.

List - I List - II
(Scale of Measurement) (Example of Variable)
(A) Nominal () Height of students
(B) Ordinal () Time of Day
(C) Interval (III) Caste
(D) Rato (IV) Rank of Army personnel

Choose the correct answer from the options given below :
(D A1), (BRI, (O~(1), (D)-(IV)

@ (A1), (B)-(LD, (C)-IV), (D)-(0)

(3)  (A)-(), (B)-(1V), (O)-(11), (D)-(I)

4)  (AIV), (B)-(D), (C)-(II), (D)~(1II)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 5330728257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heil-1 9 gEi-11 =1 fHer wifsg

Tet-1 -1

(AT ST YT ) (S T SETET )
(A) e (Fife) () Taenfei =i o
(B) TR (HIfETA) (m e =1 =
(C) Hau (1) =it
(D) S (IV) =&+ & &

A= fou 7o foepedi § | W ST 1 =5 A
(D (A)AD), (B)-(ID), (O)-(II), (D)-(IV)
(2) (A0, (B)-(LL), (C)-(IV), (D)-(0)
(3)  (A)-(II), (B)-(IV), (O)(1D), (D)-(0)
(4)  (A)-(IV), (B)-(1), (C)-(IL), (D)-(11T)
Options :
1.1
2.2

3.3
4.4

Question Number : 16 Question Id : 5330728258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major difference between Television and Cinema is :
(I) Eye movement

(2) Sound reverberation

(3) Bandwidth

(4) Liveness differential

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/266
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Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 5330728258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TeftfearsT ofi faom o e sfm s ® 2
(1) =% d=eH

(2 = TIE

(3) SRR (de fagy)

(4) <hgaar fases

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 5330728259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to David Holmes, the textual or behavioural qualities of communication are determined
by the architecture of the particular

(1) Medium

(2) Message

(3) Noise

(4) Ideoclogy

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 5330728259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sforg ¥ % IER, T we-favee a1 SEer et Tuemsti w fafre I HC=
(anfear) ¥ fuRo fen s 2
(1) wrem
(2) W
(3) ¥R
(4) Ta=meEm

Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330728260 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Correct Marks : 2 Wrong Marks : 0

The medium of Internet is described as :
(A) Restricted possibility

(B) Unimpressive theology

(C) Universalist

(D) Redemptive

(E) Electronic assembly

Choose the correct answer from the options given below :
(1) (A), (B), (O) Only

(2 (B, (O) (D) Only

(3) (C), (D), (E) Only

(4)  (A), (B), (E) Only

Options :

1. 1

2.2

3.3
4.4

Question Number : 18 Question Id : 5330728260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T2 F TN 1 R w0 A fee s & 2
(A) wfdsfed gured
(B) UM IR

(C) T
(D) fosr=res
() zoiaeitep HdrsH

A= feu 7o fasredi § | Wa& 3T 1 F2H FIfSIU
(1) = (A), (B), (O)
(2) = (B), (C), (D)
(3) == (C), (D), (E)
(4) = (A), (B), (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 5330728261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 15/266
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Identify the correct sequence of the following modes of communication :
(A) Written

(B) Face-to-face

(C) Print

(D) Broadcasting

(E) Datacasting

Choose the correct answer from the options given below :

(1) (A)(C), B) E), (D)

@ B, (A), ), D), (B
(3) (© (D), (B), (A), (B)
(4) (D), (B), (A), (B), (C)
Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330728261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ty & feafafaa meadi o W2 SR & 8= hife

(A) Tofea
(B) STHA-HA
(C) T
(D) TEHRO
(E) SR

A few 1o feshedi # | W& 39 =5 RIS
(M (A (O, B), (B), (D)
) (B), (A) (©), (D), (E)
(3)  (©), (D), (E), (A), (B)
4) (D) (B) (A), (B), (C)
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 5330728262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Match List - I with List - I1.

List - I List - II
(Concept) (Description)
(A) Closed text (I)  Verbal expressions
(B) Principle of safety (II)  Basic rhetorical structure
(C) Orality (ITI) A text to elicit a single response
(D) Cluster (IV) Avoidance of risk

Choose the correct answer from the options given below :
(1) (A, (BRI, (O-(m), (D)-(IV)

@ (A1), (B)-(LD, (C)-IV), (D)-(I)

(3)  (A)-(IO), (B)-(IV), (O)-(I), (D)-(IT)

4)  (AIV), (B)-(D), (C)-(II), (D)~(1II)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 5330728262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heil-1 9 gEi-11 =1 fHer wifsg
Tei-1 gt-11
( YT ) (7o)
(A) Hga s () e sAfveafaar
(B) g&n gl fagi (1) H& SATHRINR F=
(C) WifEekal (III) Weket STfohal UTe &t o fog a8
(D) e (FR) (IV) SifEw § =

A= fou 7o foepedi § | W ST 1 =5 A
(D (A)AD), (B)-(ID), (O)-(II), (D)-(IV)
(2) (A0, (B)-(LL), (C)-(IV), (D)-(0)
(3)  (A)-(II), (B)-(IV), (O)-(D), (D)-(IT)
(4)  (A)-(IV), (B)-(1), (C)-(IL), (D)-(11T)
Options :
1.1
2.2

3.3
4.4

Question Number : 21 Question Id : 5330728263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Find the value of the expression :

(0.12x 0.12x0.12)+(0.012x0.012x0.012)
(0.48x0.48x0.48)+(0.048x0.048x0.048)

4,

W =

p—

(2
(3)

4)

Options :
1.1
2.2
3.3
4.4

§|,_‘ Ll S s

Question Number : 21 Question Id : 5330728263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(0.12 % 0.12 X 0.12) + (0.012 X 0.012 X 0.012)

AATE (048 % 0.48x 0.48) + (0.048 x 0.048 X 0.048) 1 711 I I
1 ad
D 1
X
8 5
(3) 4
4 1
@

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330728264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the series given below. Find the number which can be inserted at the place of question

mark (?).
5, 14, 39, 88, 209, ?, 667
(1) 378
2) 297
(3) 299
4) 375
Options :
1.1

2.2

3.3

4.4
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Question Number : 22 Question Id : 5330728264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= <t T Soft R famEr e uee e O XM W T R S el e 9 Fife
5, 14, 39, 88, 209, ?, 667
(1) 378
(2) 297
(3) 299
(4) 375

Options :

1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330728265 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is/are true ?

(A) If the selling price (SP) of an article is ¥ 40 and the gain is 15 %, the cost price (CP) of the
article is ¥ 32

(B) A man bought a toy for ¥ 150 and sold it at a profit of 8 %. He sold the toy for ¥ 162

(C) A man buys a cycle for T 500, but due to some problem, he sells it for T 400. He thus incurs
aloss of 22 %

(D) Cost price of an article, if its SP is ¥ 210 and the loss is 30 %, is ¥ 300.
Choose the correct answer from the options given below :

(1) (A) Only

(2)  (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 23 Question Id : 5330728265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafas § @ %@ a8 g 3/87?

(A) =g foret =reg o1 Torsha Hod T 40 € ST A9 15 % €, ol %] ol & Jea T 32 8

(B) e =AfE A T 150 %1 Ueh fEai @liel 3K 39 8 % HA% W o= | 354 figel &l 2162 | a=

(C) T =AfH T 500 H Uk Wifohel iiea &, W foFdl Twean & o 9 36 T 400 # 9= €, 39 TR
3l B R

(D) fg foret org o1 foska e T 210 3R 1M 30 % © W 36 a%g o @ 94 T 300 ©

= feu g faeskedi # | W& I & 99 Hif

(1) A (A)

(2) A (A) 3 (D)

(3) A (B) 3 (D)

(4) 9 (B) S ()

Options :

1.1

2.2

3.3
4.4

Question Number : 24 Question Id : 5330728266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language :

“Bitter patience sweet fruit” is coded as : “Bo Po So To”

“Art is sweet happiness” is coded as : “Ao Io So Ho”
“Hoping is concealing bitter” is coded as : “Hp Io Co Bo”
“Patience is art of hoping” is coded as : “Po [o Ao Fo Hp”
How “Patience is happiness” will be coded in this language ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330728266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TRt H< |l H
“Bitter patience sweet fruit” %! “Bo Po So To” % ®9 H Fedg foman s e
“Art is sweet happiness” %I “Ao lo So Ho” & &9 | Fedg fma S ¥
“Hoping is concealing bitter” =l “Hp Io Co Bo” FEIH FIIG o 5t
“Patience is art of hoping” F! “Po Io Ao Fo Hp” F ®q H Fedg foFa STl g
TH W9 § “Patience is happiness” % e yR Feag e smam?

(1) HoloPo
(2) Hp AoPo
(3) PoAoHp
(4) PoloHo

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 5330728267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A man invests ¥ 1550 in two parts, one part at the rate of 8 % interest and another part at the rate
of 6%. If the total interest earned in one year is ¥ 106, find the amount invested at each rate of
interest, respectively.

(1) T 650 and T 900
(2) % 700 and T 850
(3) T 750 and T 800
(4) T 800 and T 750
Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 5330728267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U SAfe T 1550 i 1 T B S FaT B, UE T 8 % i e W AR g 9T Rl 6% H W AfE
w9y # e fomn e T = 2106 € @ T W W HHY: FE &t wE ufdn 3 Hif

(1) T 650 3R T 900

(2) T 700 3R T 850

(3) ¥ 750 3R T 800

(4) ¥ 800 R T 750
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330728268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“If one eats mushrooms after a long gap of time, one falls ill. [ have been having some digestive
issues since morning today, therefore there must have been mushroom in that mixed vegetable
soup we had last night” which fallacy, if any, committed in the above argument ?

(I) Itisa valid argument

(2) Affirming the consequent

(3) Hasty Generalization

(4) Begging the question

Options :

1.1

2.2

3.3

4.4

Question Number : 26 Question Id : 5330728268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ifg K =afdd T & UF oo iU F 91e HIEH F YaA Hdl § O SR 92 S g1 HifE # g
A | GTe Heiell T o G R T 7, 9fae s uf 7 forn mu fafya afsi % g9 9 woe @
o1 I9HE gfe H, Afs g o, fora T g i 7

(1) ¥ U oY gied &

(2) e = faumE

(3) Afor=nia AW

(4) SIS T

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 5330728269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are squares” is given as true then which of the following statements
can be inferred to be false.

(A) All rectangles are squares

(B) Some rectangles are not squares

(C) Some squares are not rectangles

(D) No rectangles are squares

Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (D) Only

(3) (B) and (C) Only

(4)  (A), (B), (O and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 5330728269 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

afe e e amE o &, 1 e & w9 § fem v € A frefofe § 4 frw wea w0 oo & w9
s fopan =1 wepan €2

(A) @oft st o €

(B) FB T o A &

(C) Fo ot a7 &

(D) rE of ara ot 7t €

e few o faeredi § § W& S F = R
(1) = (B), (O) 3R (D)

(2) =4 (D)

(3) %= (B) 3R (C)

(4)  (A), (B), (C) ¥R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 5330728270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are contradictory ?
(A) All squares are rectangles

(B) No squares are rectangles

(C) Some squares are rectangles

(D) Some squares are not rectangles

Choose the correct answer from the options given below :
(I) (€) and (D) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 5330728270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa & | s ol s €2
(A) =oft ot e €

(B) IS off ot Ty A ¥

(C) Fo aif a1

(D) F o 7 T €

= fau o fasredi § 9 Wa ST 99 Fif
(1) = (C) ¥R (D)

(2) A (A) (D)

(3) & (B) ¥R (D)

(4) e (A) SR (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 5330728271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From the following identify the propositions that are logically equivalent .
(A) Some books are novels

(B) Some books are not non-novels

(C) Some novels are not non-books

(D) Some novels are books

Choose the correct answer from the options given below :
(I) (€) and (D) Only

(2) (A) and (D) Only

(3) (A)and (C) Only

(4) (A), (B), (C) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 5330728271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafes § & 39 sfeafad #1 eam Fifoe 5 afds €9 § a9ged €2
(A) T TEF ST 2

(B) T T IR-I9=I1 &l € |

(C) F8 3919 & el ¢ |

(D) F 3TH T © |

= feu e faskedi H | Wt I & =9 Hife

(1) 9@ (C) R (D)

(2) A (A) ¥R (D)

(3) FA (A) 3R (Q)

(4)  (A), (B), (O) 3T (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330728272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Somdutta who is never seen eating during the day time is constantly gaining weight. Therefore,
she must be eating during the night time”. As per classical Indian philosophy which instrument of
knowledge is used in the above statement ?
(I) Perception
(2) Analogy
(3)  Verbal authority
(4) Postulation
Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330728272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o T W S S Wt EE R S T See R R We @1 €| S, °E Ui % 96
WA L 1@l eI 1" I IR 59 % S8R 3T4E YA H 91 o T 91eH i ygaa foea man g 2
(1) ¥ege 9y

(2) SIHH

(3) 9= HH

(4) =gt

Options :

1.1

2.2

3.3
4.4
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Question Number : 31 Question Id : 5330728273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that displays unwanted or sometimes irritating pop-up
advertisements which can appear on your computer or mobile phone ?
(I) Spyware

(2) Adware

(3) Worm

(4) Trojan Horse

Options :

1.1

2.2

3.3

4.4

Question Number : 31 Question Id : 5330728273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 ¥ 1 9% Sieaat § S fEifea duar w-F e F 9 9r-a1 faare yefea e € s
STT9eF FHHT AYA Haed B W T & Tahd & 7

(1) Tt

(2 TEAR

(3) =

(4) Zremed

Options :

1.1

2.2

3.3
4.4

Question Number : 32 Question Id : 5330728274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microsoft Access is an example of a(n)
(1) Operational resource toolkit system
(2) ERP system

(3) Database management system

(4) Knowledge management system
Options :

1.1

2.2

3.3
4.4

Question Number : 32 Question Id : 5330728274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AEFETR vy e O | fraer semw &2
(1) WeICHTHe HEMA Zeifhe JuTet!

(2) ¥ 3 o yomett

(3) SREE YEHE ore

(4) I W& HE g

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 5330728275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the coverage area, identify the correct ascending order of the following four types
of computer networks A-D :

(A) WAN
(B) LAN
(C) MAN
(D) PAN

Choose the correct answer from the options given below :
(1) (D), (B), (C), (A)

(2)  (B), (O, (A). (D)

(3) (D) () (B), (A)

4) (A), (B), (D), (©)

Options :

1.1

2.2

3.3
4.4

Question Number : 33 Question Id : 5330728275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTITEA & & SMHR W @2 42aehi % {79 IR YRl A-D % T& THEl %W Sl Ygdr Hifa ;
(A) =g T (WAN)
(B) WA T (LAN)
(C) WHTUT (MAN)
(D) 9 T (PAN)
= fou o fasedi ° 9 OE 39 99 FfAU
(1) (D) (B), (O, (A)
2 B, () (A) (D)
3) (D) (O (B), (A)
4) (A), B), (D), (©
Options :
1.1
2.2
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3.3
4.4

Question Number : 34 Question Id : 5330728276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following devices are computer output devices only ?
(A) Scanner

(B) Plotter

(C) Light pen

(D) Projector

(E) Speaker

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only

(2) (D) and (E) Only

() (A), (B)and (C) Only

(4) (B), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330728276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fre 3 & St afi e e FRf (asaye) AfRE §2

(A) W
(B) AR
(C) ez 4q
(D) WS
(E) TR

A= feu 7o fasredi § § Wa& 3 F F2H FIfSIU
(1) &= (A), (B), (D) 3R (E)
(2) %= (D) 3R (E)
(3) = (A), (B) 3R (C)
(4) == (B), (D) 3R (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 35 Question Id : 5330728277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - I List - I
(ICT Term) (Definition)
(A) VoIP () A tool for real-time communication between two or more
people sending text messages to their devices
(B) Instant Messaging (IM) (II) A system of interlinked hypertext documents accessed via
the Internet
(C) VPN (I) A technology that allows you to talk with other people
using the internet
(D) WWW (IV) A network that protects data by encrypting network traffic

Choose the correct answer from the options given below :
(1) (AL, (B)-(D), (O)-(IV), (D)-(III)

(2  (A)-IV), (B)-(II), (C)-(IID), (D)-(I)

(3) (A, (B)-(I), (O)-(IL), (D)-(IV)

(4) (A)-(I), (B)-(I), (C)-(IV), (D)-(IT)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330728277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feil-1 § F=i-11 1 fHerr swifs
geit-1 -1l
(3T @ St ug) ( ufturar )
(A) @t 3 a1 b (VoIP) () =791 gfFadl 9 918 €9 91 W@ 3 91 Aferes safaadi o
=T ATCEITOeR TER o 39
(B) ORI ToW YW (M WH) (IM) (1) EeTH2 °F WA ¥ TR TR i eeResRe Yorg
ot
(C) i di T (VPN) (L) o1 Wreifimert S oTaehl S207e 3 Jam ¥ o safadl 9
T T F Al T
(D) T=g g Toeg (WWW) (IV) 98 929 Sil 42oe amarmd & hIerehLul g Sl Gifam
F T

A= fou g fasredi H 9 W& 3 FI FHIWT
(D (A1, (B)-(D), (O)-(1V), (D)-(IIT)

@) (A)AIV), (B)-(1D), (C)-(ITD), (D)-(T)

3) {A) (1), (B)-(D), (C)-(11), (D)-(IV)

(4) (A)-(I), (B)-(I), (O)-(IV), (D)-(I)
Options :

1.1

2.2

3.3
4.4
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Question Number : 36 Question Id : 5330728278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are routes for exposure to pollutants in humans ?
(A) Inhalation

(B) Consumphion

(C) Ingestion

(D) Dermal

(E) Digestion

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2)  (A), (C) and (D) Only
(3) (B), (D) and (E) Only
(4) (A), (C) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 36 Question Id : 5330728278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HHE B Ugushl & SguTEA F O frefafas § @ R €2

(A) .98
(B) 3UHRT
(C) siamiem
(D)
(E) Hr=A

A= feu 7o fasredi § | Wa& 3T 1 F2H FIfSIU ;
(1) & (A), (B) 3R (C)
(2) = (A), (C) #HR (D)
(3) e (B), (D) 3T (E)
(4) == (A), (C) 3R (B)
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330728279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as a prominent indoor air pollutant ?
(I) Mercury

(2) Radon

(3) Helium

(4) Argon
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Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330728279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafeaa # 4 fFd e Wi stiafte 9 9gus & 9~ 9= HET S © 2
() 9

(2) =M

(3) @fasm

(4) @A

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 5330728280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Leachate is a :
(1) Green house gas
(2)  Air pollutant
(3)  Liquid extract from landfill site
(4) Ozone depleting substance
Options :
1.1
2.2

3.3
4.4

Question Number : 38 Question Id : 5330728280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frenfer oerel (sfere) & o
(1) 7 2=y ™

(2) =g e

(3) Y e 9 i 7@
(4) SASH & R
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330728281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are true about tropospheric or ground level ozone ?
(A) Itis called as good ozone

(B) Itis formed due to downward transfer of ozone from ozone layer
(C) It is formed due to the action of sunlight on oxides of nitrogen
(D) Itisa green house gas

(E) Itis a key component of photochemical smog

Choose the correct answer from the options given below :

(1) (B), (), (D) and (E) Only

(2)  (A), (B) and (C) Only

(3) (€, (D) and (E) Only

4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 39 Question Id : 5330728281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= § 9 %[ eflvreed™ stuen yioew &isH % geg o T e ?

(A) U TF 3=l 3fsi el Sl &

(B) ¥ TS Wa | SiSiH W A i AR stafta g 3w fafda 2t @
(C) & ATE2ISH & SiemIes W AT =1 fofan & smo fAfifa 2t €
(D) 7€ UF T 239 T ®

(E) % WhTI-TETafeh (PIRIhha) Flel & T8 ToeF ¢

= fou 7 fasredi # 9 W& W T FIfAC

(1) = (B), (C), (D) ¥R (E)

(2) E (A), (B) ¥R (O)

(3) a4 (C), (D) R (E)

(4) %9 (A), (D) 3R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330728282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are true about International Solar Alliance (ISA) ?
(A) There are over 100 member countries in this alliance

(B) Its head quarter is in Geneva, Switzerland
(C) Most of its member countries lie between equator and tropic of cancer
(D) Primary objective of alliance is to efficiently use solar energy
(E) Itis a collaborative initiative of India and France
Choose the correct answer from the options given below :
(1)  (A), (B) and (D) Only
(2) (A), (D) and (E) Only
(3) (B), (C) and (E) Only
)

(4) (C), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 5330728282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FEF IR A (AE W) FaR e d g =9 g €2
(A) = EM T 100 8 =ifys g 391 wite €

(B) T HEATA e, frafesrets # §

(C) THF ATRIY HH YALA 1 3K &k 0l & 764 feord €1
(D) 9 TTEEHA 1 WIfHF 372y HRX IS 1 S&T H 3T FLA €|
(E) ¥ YR 3R %9 Ft UF e 98 €

e fau mu fawed # ¥ W@ 3T H T Hf

(1) e (A), (B) 3R (D)

(2) = (A), (D) ¥R (E)

(3) %= (B), (C) #iR (E)

(4) % (C), (D) ¥R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 5330728283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kothari Commission (1963-64) suggested spending of national income on education.
(I) 3 percent

(2) 6 percent

(3) 7 percent

(4) 9 percent
Options :

1.1
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2.2
3.3
4.4

Question Number : 41 Question Id : 5330728283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS AN (1963-64) 7 Toan W Uy &m4 % T o =4 1 gaa faan o)
(1) 3 gfavm

(2) 6 gfaye

(3) 7 yfaem

(4) 9 gfqym

Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 5330728284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1948-49) suggested a bachelor degree of :
(1) Fiveyears

(2) Four years

(3) Three years

(4) Two years

Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 5330728284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

farvafaamera fran sTEmT (1948-49) 3 fofem ol @k o Taek oot & fom qame foan an?

(1) =
(2) =R
(3) i
(4) S ad

Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 5330728285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following were measures initiated by Lord Auckland ?
(A) Guaranteed the maintenance of oriental colleges

(B) Publication of useful works for instruction in oriental languages
(C) Selection of certain places for establishing central colleges for highest instruction
(D) Closure of college libraries

(E) Abolition of student scholarships

Choose the correct answer from the options given below :

(1)  (A), (B), (C) Only

() (B), (O, (D) Only

() (©, D) (E) Only

@) (A), (D), (E) Onl

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330728285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wre sieie A fFrefafas o FAE 39" gy fFu 92

(A) ur=A werfarnerEl (it Fersti) & STRe st e 98 &
(B) WT=A WIS W ST  ford SWErh FHiadl w1 gEeH

(C) I=Ia9 <Y & fou g werfornerdl s ero1 o Shidud T &1 =99
(D) TRITE=TEd o JEIHed 1 a8

(E) Torenfe=i =t wrEfcdl i gt

= fou 7 fasredi # 9 W& W T FIfAC

(1) & (A), (B), (O)

(2) = (B), (O), (D)

(3) &= (C), (D), (E)

(4) 9 (A), (D), ()

Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 5330728286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct chronological order of the establishment of the following colleges :
(A) Fort William College, Calcutta

(B) Sanskrit College, Poona

(C) Central Hindu College, Benares

(D) Anglo-Vedic College, Lahore

(E) Sanskrit College, Benares

Choose the correct answer from the options given below :
(1) (A), (B), (O), (E), (D)

2  (©, (D), (B), (E), (A)

(3) (D), (E), (A), (B). (O)

4) (E), (A), (B), (D), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 5330728286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafas mefaeradi #1 oo & TE FeEiE F0 F 9591 Fife
(A) e faferam =i, Ferdd
(B) HERd HaIfe=er, I
(C) F=ra feg werfoene™, sy
(D) Urel-aAfges Fiersl, TRR
(E) HEFd Helfer=ed, sHRE
e fou 7o fashedi | | WE 3T FE9 FIfAC
(1) (A, (B), (©), (B), (D)
(2  (©), (D), (B), (E), (A)
(3) (D), (B), (A), (B), (O
4) (E), (A). (B), (D) (O)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330728287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - I List - II
(Commission) (Recommendation)
(A) Hunter Commission () University technological departments providing for
research and teaching
(B) Sadler Commission ()  Withdrawal of government support to collegiate education
(C) Hartog Committee (II) Development of mofussil colleges into future university
centres
(D) Sargent plan (IV) Enrichment of college libraries and concentration on

Honours courses in select centres
Choose the correct answer from the options given below :
(M @A), (B)-(I), (CO)-(I), (D)-(IV)
(2)  (A)ID, (B)-(IID), (O)-(IV), (D)-(T)
(3)  (A)-(II), (B)-(IV), (C)-(1), (D)-(I)
@) (A)-IV), (B)-(D), (C)-(II), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330728287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feil-1 § F=i-11 1 fHerr swifs
Teil-1 Tell-11
( 3T (379TET)

(A) B A () 9y iR fover wem & & Hey o favafaerem % grenfem faam
(B) W @M () Werfoarer fan 9 el ned gem
(C) @i afufa (Ill) qFEEe welfaered w et favafamem w=i # fawtaa wm
(D) GSi= Frer (Iv) welfaare™ & qEasedl o Hadq R JiHer =l § A6 Tedsd &l
EEE
= feu U faekredl H § W& I H T HIA
(1) (A)D), (B)}-(II), (O)-(IIL), (D)-(IV)
(2 (A)-ID, (B)-(D), (©)-(1V), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)-(I), (D)-(ID)
(4)  (A)-1V), (B)-(I), (C)-(I), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 533072328
Question Shuffling Allowed : No
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Question Id : 5330728288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow :

Holidays are often a time of culinary indulgence even for people who are usually careful about
diets for the rest of the year.

But there is more to holiday eating than avoiding excess calories. What we eat affects the health of
the entire body, including the immune system. Since the most of the body’s immune system is concentrated
in the gut and the trillions of healthy bacteria living there called the microbiome - what we eat has a
direct impact on how the immune system functions. “A lot of people don’t think about the effects of
what they eat on immunity. But the science says it's crucial”, says Heather Moday, MD, Founder of the
Moday Centre for Functional and Intergrative Medicine in Norfolk, Virginia, and Philadelphia. And it's
especially important at this time of year, Since the winter holidays occur around the time when illnesses
like colds, flu and other respiratory illnesses peak.

While an occasional indulgence probably won’t cause lasting damage, throwing caution to the
wind till New year’s Day is certainly unhealthy and might make you more susceptible to getting sick.
“Even just a month of really just blowing it and not caring about nutrition can impact the microbiome”.
says Kristin Kirkpatrick, a registered dietitian at Cleveland Clinic’s department of wellness and preventive
medicine.

Sub questions

Question Number : 46 Question Id : 5330728289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Important key message the above text conveys about holiday eating can be stated as follows :
(1) It is important to completely avoid indulgence

(2)  Occasional indulgence is unlikely to cause lasting damage

(3) Diet has no significant impact on the immune system

(4) Holidays are an ideal time to experiment with extreme diets

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 5330728290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct statement that describes the primary focus of Heather Moday’s statement in
the text :

(1) The benefits of a balanced diet

(2) The relationship between diet and immune system
(3) The importance of regular exercise

(4) The effects of meditation on health

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330728291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are effects of diet on the body’s immune system as discussed in the text ?
(1) Increased cholesterol levels

(2) Direct impact on immune system functions

(3) Improved skin health

(4) Loss of appetite

Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330728292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microbiomes are important as :

(1) They create lots of sugar in the body

(2) They are healthy bacteria living in the body

(3)  They may raise blood pressure and heart disease risk
(4) They increase the tendency for processed food
Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 5330728293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4)  Occasional food indulgence will cause lasting damage

Options :

1.1

2.2

3.3

4.4

Question Id : 5330728288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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ferw 77U TENYT T UgeRT WY oh ST el

feal wr: = @i o forg oft wram 7 e o1 9w 2 €, S 99 ad o9 eR % an § arr
Heh T T

aifeA, sifafiad SFer & Yo § o= F Iom g2l % for wHum & ar ¥ IR off €1 59 S @
¥, R wioRers qonel Afed Yol YRR & TRy T YYE TS 8| i I 1 arfemrier wfaters yone ot
T Hehfad € o ael faemm sal ) GEn § HEherEm A W SaifE (Sien ) -gH #9 B §, SHeT Weal
WIS T2al © T ufciarss gonell 3 rd &l ¢ | ' Iga- i dn 3k WA § YiaE WS Je 996 6
# 72 drea € Ao fomm wrear ® To6 9 wewqul €1 =g MU, asiifan iR frarefera § A2 9=t v
e Ue FErifea nfefad % ey fevre 16 G St A 1 el ¢ | S g ad % 3w gug # oy w
H weayt ¢ i Tl w1 Al e g6 99 Bl €, S S, Tl 3R YaEE T0E1 SiH W € |

I TI-Fal AT § Hied S Heyed: Tl af 78 sgane, dfFa T9-av & 57 7% gayE 7@
e frve & s ¥ @R envel S § i o w9 ¥ Fellaeie FiE ¥ d9emg ue fyaftes
Hfefoa fewdiiez # usigra emer favms form fdhifzs o1 @ve € ' araa o v ©&F AR # aTame 2 eiit
Gl 3 IR H A 7 SH T ARk e W 9YE 9g gEa 1

Sub questions

Question Number : 46 Question Id : 5330728289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I E IS 5R YEl & T & WeIm | Gierdn & 9N H aaeny T geeyn g Sew F frefaiad 6 '
¥ arfererer form o gean 2

(1) @A o dferaa 9 qoia: s=H1 eyl ¥

(2) I<I-Fel @AY H Gfcrdd gR1 wur ifa s e €

(3) SMER T FfCREToT YuIehl R 1 |iefw Y T g2 |

(4) gfedi % foq stfa—amaH % |1e 9ar T F1 TF A% 99 ¢ |

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330728290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
TG Tl FYA 1 T1a B, SIS H T WS F FYA T SHE T4 F AF Fiwd A F a1 H 9o Fa
g
(1) Hafera smer % o
(2) MR 3R Ufereror Yuned & e oy
(3) Trafva =amm = "ee
(4) =9 F WA W UNE
Options :
1.1
2.2

3.3
4.4

Question Number : 48 Question Id : 5330728291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafaa o & 907 =1 wfavarn yorelt W &) & foe yvre = == #E § 2
(1) ¢ gY FleRgiel &R

(2) WfETT Jone! 3 FE W T 9=

(3) = F WreA H guR

(4) @I

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 5330728292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

imsm“ ’W’%Wﬁ-.?

(1) 3 R H sreafess T 309 4

(2) A IR A ToemA @y S (SEm) 2 |

(3) & EE AR T Hau I % SifEw § 9fE F 9 ©
(4) ¥ THERd @ US| F 9o Fi Hgid 98 £ |

Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 5330728293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea § § FmE wue suded we & dey # wd 7 772

(1) i 19 |wre & =R fed gaie @HIE d € @ 9gd &4 &fd el 8

(2) wfcRE = weEE S WA & fow SAfa 1 Scege® afie | @HIH TE e Ay, afck O
HAferer gorafedd T ¥ a0l @I A =1 |

(3) T S WY FA €, SR AR JUTe U Weel WuTE UEd §

(4) A<l @AY H dferar emdt efa ggamat

Options :

1.1

2.2

3.3

4.4

Sindhi Devanagari

Section Id : 533072111
Section Number : 2
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
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Sub-Section Number : 1
Sub-Section Id : 533072329
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5330728294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“defeE € el Rl SR -
(1)  TEH a9

(2) TAHE. WF

(3) fearRt Hom

(4) = TE e
Options :

1.1

2.2

3.3

4.4

Question Number : 51 Question Id : 5330728294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"defiE € grel’ e & -
(1) TRER 9
2) TUAH. WF
(3) feam Fo
(4) &0 ATE T
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330728295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl o S Hier o @ HeRd ST Sifedt’ g@ 9 TR -

(1) g HeH
(2) fist sefr= sm
(3) Sond T
(4) HERIH HeARTON
Options :

1.1

2.2

3.3
4.4

Question Number : 52 Question Id : 5330728295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gl o S Hier o U HeEd S Sifedt’ g@ = TR -
(1) EATE HAH

(2) st wefr= sm

(3) SIeHA T

(4) HERIH HeARTON

Options :

1.1

2.2

3.3
4.4

Question Number : 53 Question Id : 5330728296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" feedt Teepa i fa quolt o o Heepa S ARl s 38 T e

(1) cirerm E=erf
(2) e wreET

(3) UHZH. SEdl

(4)  Hrciere Straaroi
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 5330728296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" foedt Tepa @ o ol SR o Seepd S TRl e 38w e

(1) TireRm E=erof
2) SI3 AT

(3) TUHF. Sl

(4) A S

Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 5330728297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

23 el EIHPJH @T .

(1) =m Hifee®

(2) E FHE

(3) WA

(4) = fear
Options :
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1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330728297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
231 VRT T A
(1) = e
(2) W THTE
(3) WA
(4) = feam=
Options :
1.1
2.2

3.3
4.4

Question Number : 55 Question Id : 5330728298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“gfeviisr S 2R’ WA S sTEEel 3R w5 Hfee o’ wergy fordr ?

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330728298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘gfeoftst st 21" P S sTaEel SR 95 Hfee Ao’ Wt ford ?
(1) e sfEn=

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330728299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"9 q fesia wfean wiean fesit g’ fes e # 999 9% ?
(1) RO S TR 6 SR

(2) TS HE TE T 7T Hg

(3) < =

(4) el JHEE

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330728299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘et 7 fef wfen afen feaft s Ffe e & =g o ?
(1) o S ToRT &l S

(2) WIS HiE g% T 9 7
(3) T EEE

(4) oA =EE

Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 5330728300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HE U W ared e w9rEl e -
(1) TSl sevite § S &
(2) S wREme U S T S
(3) HSl asffier U Sm anreist §
(4) Sl garoits © W Wi oTefie

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330728300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A € wEEd ared e 7eel Sfef -
(1) St st T S & 5
(2) S wREmie € W e S
(3) TSt sfmfier U S aAreiet 5
(4) St GaEite € S 9 el §
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Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 58 Question Id : 5330728301 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
e 3765d AW S 99 Ffes M8 | fordn ?
(1 Aed
@ dfer
(3) wfeafegfs
(4) e

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 5330728301 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

e g A 5 94 FHies Mo # forzn ?
(1) IS

2) R

(3) WA

(4) sHfear

Options :

1.1

2.2

3.3
4.4

Question Number : 59 Question Id : 5330728302 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

(1) R =T @H
(2) W 7ega IE
(3) W &EA |
(4) T-NA-<H

Options :

1.1

2.2

3.3
4.4

Question Number : 59 Question Id : 5330728302 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(1) R =T @H
(2) TR oTegE IR
(3) T EEA |
(4) T-NA-<H

Options :

1.1

2.2

3.3
4.4

Question Number : 60 Question Id : 5330728303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"3 R A TR, e gl | wem ' wfE = e ?

(1) g &re
2) HIA THW
(3) <o

(4) e

Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 5330728303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"3 FE A T, e 9Tl W gan ' #E = ee ?

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330728304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o fa st s, O foen T g v fee waER TE AR 2

(1) T il
(2) & TR
(3) wfer FeRIT
(4) <A FFR
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Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330728304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 o st St U o we g dar'! wiee R 99 SR ?

(1) TR %l
(2) EE FER
(3) HIfeF HehiT
(4) A TR
Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330728305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" STufTen’ FEToiet S oEeE AR -
(1) Tifei wreE

(2) WL TH el

(3) AT G

(4) FO @A

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330728305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" srqfarar’ FwEronet S oRge e -
(1) Tifeig mee

(2) WL TH el

(3) AT GEari

(4) Fo FeaT

Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 5330728306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e sTeRTEHl URT 9 forre] forarg et Areer St < i’ < wwred 4 o1 -
(1) e e
(2) U9 R
(3) =E
(4) THE. SEwl

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 5330728306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tifeca sveprert ari wran feraeg feparg et e <ff g date’’ i weares 4 o -

(1) SISl el
(2) U9 YRl
(3) TAT HEM
(4) THF. S
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330728307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" fafireas =% AeE S d@E AR -
(1) HENIH HehTf

2) @HEE S

(3) TEYH ARl

(4) 9L TH G

Options :

1.1

2.2

3.3

4.4

Question Number : 64 Question Id : 5330728307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“fafireae =% ' AeE o g TR -
(1) =W AR

2) @ A

(3) TiEEA 9Rd

(4) T TH e
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Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330728308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el arell © aifec 51 aur @ Svessl | TG afecs a1 s %S 98 -
(1) 1946
(2) 1948
(3) 1951
(4) 1947
Options :
1.1
2.2

3.3
4.4

Question Number : 65 Question Id : 5330728308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el sitelt € arfeca & aran o averget | et afes g o &8 9% -
(1) 1946
(2) 1948
(3) 1951
(4) 1947
Options :
1.1
2.2

3.3
4.4

Question Number : 66 Question Id : 5330728309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e HE el € L Hedgd waan,

d AEd1el § Heead o e fed W | grern |
Ffeeg wmet s &% -

(1) s [a Jerg

(2) HTEE HewE HEH

(3) @

(4) =5

Options :

1.1

2.2

3.3
4.4

Question Number : 66 Question Id : 5330728309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HTell 7 Hal S YL HEed Hase,
 HEdeT § Heed S o fed 2 @ grer |
Ffee aret = % -

(1) E® TTA e
(2) HTEE HewE HITEH
(3) @
(4) =9

Options :

1.1

2.2

3.3
4.4

Question Number : 67 Question Id : 5330728310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eI A S OEE R -
(1) EeT FHEmf

(2) T AR

(3) EHT syEeof)

(4) TFE

Options :

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 5330728310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 5330728311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“airgr arh fafean’ weifeRgf S wey S o oTTe -

(1) TEsH 9
(2) w@FEE S
(3)  HYRH ekl
(4) SHed fAda
Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 5330728311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) s R
(2) w@HEE ol
(3)  HYR HohTol
(4) amEed fHa

Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 5330728312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fHet Sk o7ea q SRS w99 3% -
(1) <3w s
(2) SH W]

(3) oTegd HT Hrall
(4) FATETA Ea

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330728312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fot <iiek s1ee 4 STRNE F3d k. -
(1) =Fm= e
(2) A IR

(3) Tsgel AT Tl
(4) FrEETA TEaT
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Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 5330728313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fet itk s1ga s 921 wfew e -
(1) =i et o= 9ard

2) = AT

(3) <rErEE sySEr

(4) FHEHS SN0

Options :
1.1
2.2
3.3
4.4

—

Question Number : 70 Question Id : 5330728313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feef <irer a7ee S =21 wfee e -

(1) = & 5E aad
(2) = HISETE
(3) TAErEE AT
(4) FHEHS AN
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330728314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) e A
(2) TH HeETOi

(3) e @Ea

(4) e |
Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 5330728314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330728315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g Sf TR s fafeae aw -
(1) & 9= 9ad

(2) TSI SR

(3) TaTe a7 e

(4) T ST

Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 5330728315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘i S gt wwem fafaae aw -
(1) =it 9= 9=

(2) TSI SR

(3) T e s

(4)  TH HEmoi

Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 5330728316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEE GERAMaT S WSTAf S Hergsl oTe -
(1) @ T F

(2) f&a s gfwn

(3) EfEH AEH

(4) @ s

Options :
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1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 5330728316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEHE HERIfet S HSTHAMA S weE ST -
(1) @ T FA

(2) fee i i

(3) EfEH AEH

(4) @ s

Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 5330728317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" 1get amE I foEr -
(1) 1906 %.

(2) 1916 %

(3) 2015 %

(4) 1941 %

Options :

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 5330728317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘orelt SEA S e -
(1) 1906 %.

(2) 1916 %

(3) 2015 %

(4) 1941 %

Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 5330728318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TH YSETiie] o HeTHAA S el e -
(1) g fee arfq =i

(2) =9 S 3EE

(3) fHY

(4) 3T A

Options :

1.1

2.2

3.3
4.4

Question Number : 75 Question Id : 5330728318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TH YTt 1 HSTA Si1 Aol e -
(1) gfwi fee arfa s

(2) =9 S IR

3) 1

(4) T FEH

Options :

1.1

2.2

3.3
4.4

Question Number : 76 Question Id : 5330728319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Toa il weA A e -
(1) g srsmarof

(2) I AIESET

(3) e SATSAm

(4) T Y@

Options :

1.1

2.2

3.3

4.4

Question Number : 76 Question Id : 5330728319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Toa il weA A e -
(1) eIfes st

(2) = AT

(3) e SATSAm

(4) T ST
Options :
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1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330728320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" S7esl gL' S AR -
(1) e SrEar

2) T Y@

(3)  SIer e

(4) EI. T AW
Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 5330728320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" 7e grET' S AR -
(1) eI STEar
(2) T Y@

(3) SIS reremi

(4) TSI =FT
Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 5330728321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e w5 @ aifecy st sane fafadr -
(1) <isfedi4ggM
(2) fea sf gfn
(3) wHal
(4) foorg
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 5330728321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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drel arHa @ wifecd steREHT STare faferar -
(1) e w4 €5
(2) fea sf gfn
(3) FH
(4) foorg
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330728322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT e o M | e |
(1) e

2) WY

(3) <& geEa

(4) =9

Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 5330728322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B i o) i o R M | ) 2 [
(1) dEd

2) Y

(3) =M I

(4) <AYd

Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 5330728323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 v’ feham ae -
(1) e

(2) HARE

(3) =herfory

(4) A
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 5330728323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘a1 v’ foRarg ate -
(1) faa

(2) EF

(3) ey

(4) HsT
Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 5330728324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& YT T TR -

‘et a1 &R |, B @ vern! gst ==l
(1) & feeri

(2) ARET FEH

(3) ETS el s

(4) TFoTeER aafy

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 5330728324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& YT T TR -

gty aE e |, B @i ven! gt ==l
(1) =4 feerii

(2) ARET FEH

(3) ETS el s

(4) TFoTER Fafy

Options :
1.1
2.2
3.3
4.4
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Question Number : 82 Question Id : 5330728325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ome i T S e e -
(1) R 39m
(2)  TM YsfETOR

3) v T
)

(4) =i TEaEl
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330728325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"oTe S e’ S Hifew s -
(1) ARE 39

(2) TH Y@

(3)  wATH AT

(4) =N

Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 5330728326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘e’ forEr i foek wfee’ fra § atR ?
(1) e "t Fefg
(2) 1857 § arr@Enforg
(3) EFR S HaA
)

(4) TosFm el
Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 5330728326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"gerr' fepter i 5tk wfee’ ferama 4 s1R 7
(1) g et Ferg
) 1857 § &A@
(3) TR S Had
REER: REC L

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 5330728327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tiferg deTeie S FwRioR S A S -
(1) JieewEs 5 fage

2) W g

(3) WIS STy

(4) Taa g

Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 5330728327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e deTeliel &t FwRof s aemal 1% -
(1) Sigeprest i fagy
(2) W< TR
(3) WIS sty
(4) Taa g
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 5330728328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 91 1 R U ST -
(1) e

2)  SeH Ul

(3) FeH GUe

(4) e HUE
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Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 5330728328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Tt I= = T TR -
(1) faa

(2) eH FA

(3) e §UE

(4) HEF "UE

Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 5330728329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“gfgsi Tash’ weIf S HeHY S TR ST -
(1)  Tiifers ATl

(2) BT FHET

(3) T fEeEn

(4) TEEE W

Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 5330728329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘st qel’ FeIforf S Hery S ohEg ST -

(1)  ifer< Aree
(2) HEA FHE

(3) T faeEmi
(4) T A
Options :

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 5330728330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a9y o a0 € 9w 99 S wfehnf S S 8l -
(1) 1050 - 1520 %.
(2) 1050 - 1560 %,
(3) 1520 - 1610 %.
(4) 1520 - 1843 3.

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330728330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey # gau © 9w 59 S wfenfy S S 8 -
(1) 1050 - 1520 3.
(2) 1050 - 1560 §.
(3) 1520 - 1610 %,
(4) 1520 - 1843 §.

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330728331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeTaeRe faHr wrsdier st aven ae -
(1) wH=9a 9

(2) wonfen g

(3) TSI ohTEA

(4) Tfcrsl steTHIE

Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 5330728331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A aerel faH smediet s o1a o1e -
(1) =« 97

2) EEIfed HER

(3) RISl e

(4) TfcAs STETHIET
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Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330728332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e s YIHieT d uS g w3 snfefd -
(1) wres

(2) TW

(3) w9

(4) dEre

Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 5330728332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e s GIHieT @ U g = ohfefa -
(1) W

(2) W

(3) HE:

(4) IS

Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 5330728333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fiee! fofher ‘GRSt am’ Jfae s 21me ?
(1) whFd
(2 TEEH
(3) “RH
(4) TR

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 5330728333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Fieel fofer ‘grr st am’ fae s eme ?
(1) W
(2) T
(3) W™
(4) HeRI

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330728334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ffesh faft gafa & & smefyg’ snfefq -
(A) SHEE

(B) IR

(C) YemE

(D) feeeht

(E) =

Choose the correct answer from the options given below :
(1) (B) & (C) only
(2) (A)& (D) only
() (B) & (D) only
(4) (C) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330728334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ffeet fafr gafa # foeh sreefay’ snfef -
(A) STEE

(B) ZAXUSH

(C) o™

(D) feeet

(E) =

Choose the correct answer from the options given below :
(1) (B) & (C) only
() (A)& (D)only
(3) (B) & (D) only
(4) (C) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330728335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STEATF Y S EAMT 3fed -

(A) TS SFSiE ST
(B) HfEsH wrTE gfesi wifeg
(C) TR I T
(D) ST ST EE
(E) o 7 fed whed

Choose the correct answer from the options given below :
(1)  (A) & (B) only
(2) (B) & (C) only
3) (©) & (D) only
) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330728335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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STEATE Y9 S EAT 3fed -

(A) TS SFSiE ST
(B) HfEsH wrTE gfesi wifeg
(C) fHmR &g &g
(D) T ST ST EE
() o 7 fedi hed

Choose the correct answer from the options given below :
(1)  (A) & (B) only
(2) (B) & (C) only
3) (©) & (D) only
) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330728336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hragst S 9IS aAfefd -
(A) TEER I

(B) WHwEH WH
(C) T st

(D) 3 T

E) T IR

Choose the correct answer from the options given below :
() (D) & (E)only
(2) (A)& (B)only
(3) (B) & (C) only
4) (A)& (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330728336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HrIget ST I aAfel -
(A) TEEA I

(B) WHwEH WH
(C) g s

(D) #qFH

E) T IR

Choose the correct answer from the options given below :
() (D) & (E)only
(2) (A)& (B)only
() (B) & (C) only
4) (A)& (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330728337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

* sqreAre = feRare anfefd -

(A) T

(B) =Rl
(C) @& R
(D) SISt

(E) FHfaar =i Ffam a8

Choose the correct answer from the options given below :
(1) (A) & (C) only

(2) (B) & (E) only

(3) (D) & (E) only

(4) (©) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330728337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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* sqreAre S feRare anfefa —

(A) T

(B) =Rl
(C) & dR
(D) SISt

(E) hfean @i sfean aE

Choose the correct answer from the options given below :
(1) (A) & (C) only

(2) (B) & (E) only

(3) (D) & (E) only

(4) (©) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330728338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I HAlfef -
(A) wSArT

(B) R S =H
(©) #fag
(D) foer

(E) i a7el

Choose the correct answer from the options given below :
M (B, (©) & (D) only
)  (A) (©) & (D) only
() (A) (B) & (E) only
(4) (A) (B) & (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330728338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I HAlfef -
(A) wSArT

(B) R S =H
() wfay
(D) foer

(E) emEisr et

Choose the correct answer from the options given below :
M (B, (©) & (D) only
2)  (A) (©) & (D) only
(3)  (A), (B) & (E) only
(4) (A) (B) & (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330728339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ffesh T | |ifec SRS Ui 9l Tt o gam = fe faan -

(A) 1972
(B) 1975
(C) 1987
(D) 1992
(E) 2001

Choose the correct answer from the options given below :
(1) (A)& (B) only
(@) (O & (E) only
(3) (A) & (C) only
(4) (B)& (D)only

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330728339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ffesh T | |ifec SRS Ui 9l fowramat= o gam = fe faan -

(A) 1972
(B) 1975
(C) 1987
(D) 1992
(E) 2001

Choose the correct answer from the options given below :
(1) (A)& (B)only
@) (C)& () only
(3) (A) & (C) only
(4) (B)& (D)only

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330728340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y™ Sfef -
(A) =7 fea1 F=fe
(B) FSI T HIH
(C) it Sl

(D) HR Y=l
(B) e i fordi wge

Choose the correct answer from the options given below :
(1) (A)& (©) only
(2) (B) & (D)only
(3) (A) & (B) only
4) (C) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330728340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 71/266



8/30/24, 11:16 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

HEHAMI #1fefd -
(A) ¥ 7 fear wzfe
(B) FSI Tl A
(C) SieT ek

(D) HR Y& 9
(E) T it fordl wew

Choose the correct answer from the options given below :
(M (A) & (C) only
(2) (B) & (D) only
(3) (A) & (B) only
(4) (C) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330728341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSI ST $ErE SAfef -
(A) W S
(B) WreTae wH
(C) TS Sreramit
(D) TG TT=sTof
(E) orgd Higl

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2)  (C) & (E) only
(3) (B)& (D)only
4) (C)& (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330728341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TSI ST $ErE e -
(A) W S
(B) WreTae wH
(C) TSt et
(D) TG TT=sof
(E) orgd Higl

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2)  (C) & (E) only
(3) (B) & (D) only
(4) (C) & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330728342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Hied S g2’ aR WhfU2 9 FY FES
(A) e SEam

(B) TAMEE STSETUl

(C) TEeErg Jas

(D) faus-sat-5 7Y

(E) T Ysfarof

Choose the correct answer from the options given below :
(1)  (A) & (B) only
(2) (B) & (C) only
(3) (D) & (E) only
(4) (O & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330728342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"Higd Sl g2’ aR WhU2 d FY FEg
(A) e SATEE

(B) TAMEE STSETUl

(C) TERH dasi

(D) fawe-sa-5 7Y

(E) T Ysferof

Choose the correct answer from the options given below :
(1)  (A) & (B) only
(2) (B) & (C) only
(3) (D) & (E) only
4) (C) & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330728343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEACTE YRR 1 Y 49R #eg oEsd alfef -
(A) = FAree eEam

(B) 1. HigTelel wHi
(C) =TI e
(D) s STEis

(E) WaIHSH Higd
Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (B) & (C) only
(3) (C) & (D) only
(4) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330728343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LA YRR 1 IV GUR %es oEd alifef -
(A) = FAree eEam

(B) 1. HigTelel wHi
(C) =TI e
(D) TS TS

(E) WHHSH Higd
Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (B) & (C) only
(3) ()& (D) only
(4) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330728344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

araed iy aRdier § @1 A eTfefd -
(A) =TS

(B) & UTH

(C) & =&

(D) wEd e

() STgTT

Choose the correct answer from the options given below :
(1) (B) & (C) only
(2)  (A) & (B) only
(3) (C) & (E) only
(4) (A) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330728344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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araed iy ardier § @ A eTfefd -
(A) =TS

(B) & UTH

(C) & ==t

(D) wEd =R

(E) TR

Choose the correct answer from the options given below :
(1) (B) & (C) only
(2) (A)& (B)only
(3) (©) & (E) only
(4) (A) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330728345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SYal Sqaiiel 511 Aifere anfef -
(A) W@ S @]
(B) A Sl AT
(C) HRHA e
(D) i sft fea
(E) wqe T foRm

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (B) & (C) only
(3) (C) & (E) only
(4) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330728345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Syl Saaroiiar = Aifae anfef -
(A) R S
(B) A Sl AT
(C) AHIH AT
(D) e st fea
(E) wHe T fpm

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (B) & (C) only
(3) (C) & (E) only
(4) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330728346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifes sTpeHl 2 B1fga shag dfgss anfef -

(A) el T
(B) zfgu arEaroi
(C) Trvel EeTsit
(D) FHE TR
(E)  Trowit Tmrof

Choose the correct answer from the options given below :
M B, (©) & (D) only
(2)  (C) (D) & (E) only
(3) (A) (D) & (E) only
(4) (A) (B) & (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330728346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gifes el 2 B1fga shag dfgss: anfef -

(A) el T
(B) zfgu arEaroi
(C) Trvel EeTsit
(D) FHE TR
(E)  Tfowit Tmmof

Choose the correct answer from the options given below :
M B, (©) & (D) only
(2)  (C) (D) & (E) only
(3) (A) (D) & (E) only
(4) (A) (B) & (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330728347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faers =e Tete fafaar anfef -

(A) TrereR d99
(B) Bel Wl
(C) &S s
(D) TTHSA HER
(E) g Agst

Choose the correct answer from the options given below :
(M) (©) (D) & (E) only
(@) (A) (B) & (D) only
(3) (A) (B) & (C) only
(4) (A) (C) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330728347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faters =e Tete fafaar anfef -

(A) TrereR d99
(B) Bel Wl
(C) TIETs s
(D) TTHSA HERA
(E) g st

Choose the correct answer from the options given below :
(M) (©) (D) & (E) only
(2 (A), (B) & (D) only
(3) (A) (B) & (C) only
(4) (A) (C) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330728348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e I S 9 S He T et -
(A) T 9=t =R

(B) iia fag =

(C) T fomn

(D) WHEt wEs

€) s S gee

Choose the correct answer from the options given below :
(1) (A), (D) & (E) only
(2) (A) (B) & (D) only
(3)  (A) (©) & (E) only
() (A) (B) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330728348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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" FTeed WIS e S weE e -
(A) T 99T =R

(B) iia fag =

(C) T fmm

(D) WMl weE

(E) fiasn s gee

Choose the correct answer from the options given below :
(1) (A), (D) & (E) only
(2) (A) (B) & (D) only
(3} (A) (O & (E) only
(4)  (A), (B) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330728349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST \IHART 1 Aifae sfef -
(A) R
(B) ®eln
(C) g™
(D) v
E) zfer

Choose the correct answer from the options given below :
(1)  (A) & (B) only
(2)  (C) & (D) only
(3)  (B) & (E) only
@) (A)& (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330728349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TS WIHERT =1 A anfefd -
(A) IR

(B) ®eln

(C) wHufm

(D) wmed

E) zfer

Choose the correct answer from the options given below :
(1)  (A) & (B) only
(2)  (€) & (D) only
(3)  (B) & (E) only
4) (A)& (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330728350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ffee swEaft S fay & st forit ome -
(A) R &=

(B) Xl frrgaft

(C) forie smgam

(D) ot TR

(B) T |

Choose the correct answer from the options given below :
(M) (A) (B) & (C) only
(2) (C) (D) & (E) only
(3)  (A) (B) & (E) only
(4) (), (C) & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330728350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FleeH sdiaf 5 fay § 5= fort a2 -
(A) T ITeE=

(B) Xl frrgaft

(C) forfi s

(D) ot TR

(B) T Hwamft

Choose the correct answer from the options given below :
(M) (A) (B) & (C) only
(2)  (C) (D) & (E) only
(3)  (A), (B) & (E) only
(4) (), (C) & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330728351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HeNZ § sTarars: e -
(A) T e

(B) AR W=

(C) = syt

(D) ST AGETI

(E) famii gl

Choose the correct answer from the options given below :
(1) (A)& (D) only

(2) (B) & (C) only

(3) (A) & (B) only

(4) (B) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330728351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeNZ 5 sfeiars: e -
(A) T e

(B) AR W=

(C) &

(D) ST SAEETI

(E) farmii gl

Choose the correct answer from the options given below :
(1) (A)& (D) only
(2) (B) & (C) only
(3) (A) & (B) only
(4) (B) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330728352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HEAE Srgamiist S fehame stfefd -
(A) feomm

(B) WeHTA-3eI-feehrd

(C) wam fay

(D) TH arefi=t s ariE

(E) grH S

Choose the correct answer from the options given below :
(1)  (A) & (B) only
(2) (B) & (C) only
3) (©) & (E) only
(4) (O & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330728352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HEAE Frgamiist S fohame sffefd -
(A) feomm

(B) WeHTA-3eI-feehrd

(C) =am foy

(D) TH areet s ariE

(E) xS s

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (B) & (C) only
(3) (C) & (E) only
(#) (C) & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330728353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&4 fememofiet s wifae snfefq -
(A) 3T

(B) ¥l

(C) T Sf foen

(D) Y@ =i fod 7%

(E) o7y

Choose the correct answer from the options given below :
(1) (A)& (D) only
(2) (B) & (C) only
(3) (D) & (E) only
4) (C)& (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330728353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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&4 fememofiet s wifae snfefq -
(A) e

(B) ¥l

(C) T S@f foen

(D) Y@ =i fod 7%

(B) o7y

Choose the correct answer from the options given below :
(1) (A)& (D) only
(2) (B) & (C) only
() (D) & (E) only
4) (C)& (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330728354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey = ren afef -
(A) et

(B) FHUE

(C) W&

(D) 3=

() IEeg

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (C) & (D) only
() (©) & (E) only
(4) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330728354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feey 1 Aren snfef -
(A)  Emo

(B) FHIE

(C) wHem

(D) %=H

(E) cgeTqX

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (C) & (D) only
() (©) & (E) only
(4) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330728355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 | Frerr enfefd -
(A) TEHEEH

(B) si.w= ufer

(C) =Wt THet swmee
(D) ek =HaTol

(E) =&

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2)  (B) & (E) only
() (B) & (C) only
(4) (C) & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330728355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 | Frerr afef -
(A) TEHEEH

(B) si.w= ufer

(C) oelt ot st
(D) e o

(E) s

Choose the correct answer from the options given below :
(1) (A) & (B) only
() (B)& (E)only
() (B) & (C) only
4) (C)& (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330728356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey = fsfen anfef -
(A) wrSHON

®) =&

(C) ¥

(D) gy

(E) =

Choose the correct answer from the options given below :
(1) (B) & (E) only
(2) (A) & (B) only
() (D) & (C) only
(4) (B) & (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330728356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feey 1 st anfef -
(A) TSI

®) 33

(C) ¥

(D) gy

(E) =

Choose the correct answer from the options given below :
(1) (B) & (E) only
(2) (A)& (B)only
() (D) & (C) only
(4) (B) & (C) only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330728357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s fersrrt stfefd -
(A) T EFREMA W
(B) A WS WH
(C) foawEH

(D) T =t
E) == gfe™

Choose the correct answer from the options given below :
(1)  (C) & (D) only
(2) (A)& (B)only
() (©) & (E) only
) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330728357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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s fersrr sfefd -
(A) T FREMA W
(B) A WS WH
(C) foawE

(D) f=E =
E) == gfe™

Choose the correct answer from the options given below :
(1)  (C) & (D) only
(2)  (A) & (B) only
(3) (©) & (E) only
4) (D) & (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330728358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et sraRT s Arfer -
(A) e S
(B) =HeAT TSa
(C) o= zm
(D) o= == =m
(E) W wsferoft

Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (B) & (C) only
(3) (D) & (E) only
4) (C)& (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330728358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feeT saTeRtoT =11 Afex -
(A) e S
(B) e AT
(C) & Ty

(D) o= == =m
(E) W gsmErit
Choose the correct answer from the options given below :
(1) (A) & (B) only
(2) (B) & (C) only
(3) (D) & (E) only
(4) (C) & (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330728359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-1 List-11
(A) uSd n febrs
(B) erfHull gor (I) 3d 3
(©) i3 IRy (1) g ot forem
(D) ot Higiel FY (V) He el foram

Choose the correct answer from the options given below :
(D) (A)-(1V), (B)-(1D), (O)-(I1L), (D)-(I)

(2 (A1), (B)-(V), (O)-1), (D)~(III)

(3) (A, (B)}-(ID), (O)-(1V), (D)-(LI)

(#) (A, (B)-(1D), (©)-1), (D)-IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 116 Question Id : 5330728359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-1 List-11
(A) uSd O fewrs
(B) erfHull gor (I) 3 s 3d
(©) i3 IR (1) g ot formm
(D) @i TiSfial <A (V) He e foram

Choose the correct answer from the options given below :
(D) (A)-1V), (B) (10), (O)-(I11), (D) 1y

2 (A, (B)-(IV), (O)-1), (D)~(LI)

(3) (A, (B)}-(ID), (O)-(1V), (D)-(LI)

(@) (A, (B)-(1D), (O)-I), (D)-IV)
Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 5330728360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-I List-I1

) g fem @O Ty w

(B) @ @A (I) =N TEEY
(C) ¥ FIY (L1 TR
(D) ¥ =I (IV) S®9E

Choose the correct answer from the options given below :
(1) (A)D), (B)-(II), (C-(IV), (D)-(IT)

(2)  (A)-(II), (B)-(IV), (C)-(1D), (D)-(I)

(3)  (A)-(Im), (B)-(IV), (O~(D), (D)-(IT)

@) (A)1V), (B)-(D), (C)-(IT), (D)~(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 5330728360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-11
(A) it feay @ by F
(B) @ @ (I) =R TEE
(C) ¥ = (L) =Yy
(D) W oI (IV) 3|9

Choose the correct answer from the options given below :
(D) (A1), (B)-(LD), (C)-(IV), (D)-(LI)

(2) (A, (B)-(IV), (O)-(IT), (D)-()

(3)  (A)-(Im), (B)-(IV), (O~(L), (D)-(IT)

@) (AIV), (B)-(D), (C)-(II), (D)~(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 5330728361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-I List-11
(A) ©ma T () = fes =m s
(B) O WaTuil (I) 7 S foan
(C) = fememoi (1) =10
(D) = HreEmi (IV) &S 3ew it 7ig

Choose the correct answer from the options given below :
(1) (A)IV), (B)-(I), (C)-(II), (D)-(IIT)

(2)  (A)-(I), (B)-(IL), (C)~(ID), (D)~(IV)

(3)  (A)-(IV), (B)-(ID), (C)-(1D), (D)-(I)

(@) (A=), (B)-(1D), (C)-(1V), (D)-()

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 5330728361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-11
(A) &t g @O 9= few =r s
(B) T WeaTuil (I) T s/ fan
(C) =0 fewami (L) 7l
(D) =X A (IV) TSt e i Hig

Choose the correct answer from the options given below :
(D (A)1V), (B)-(D), (C)-(1T), (D)-(1I)

(2)  (A)(D), (B)-(IT), (C)~(IIL), (D)-(IV)

(3)  (A)-(IV), (B)-(1D), (O)-(1D), (D)-(I)

(@) (A, (B)-(ID), (O)-IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 119 Question Id : 5330728362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-I List-11I
(A) HEITT FE, iy el o 2 ° () % HER
(B) S @R d =i 37X =nfe fage it () T8et Feh
(©) F U m |, o 9 e W (I =t

(D) fedt FFe 7 30om ot WA & Fa, (V) T90 909
Choose the correct answer from the options given below :

(1) (A)I), (B)-(I), (C)-(IT), (D)-(IV)

(2)  (A)-(I), (B)-(IL), (C)~(IV), (D)~(II)

(3)  (A)-(ID, (B)-(D), (O)-(1V), (D)-(LI)

(4) (A=), (B)-(1D), (C)-(1), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 119 Question Id : 5330728362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-II
(A) g 6, iy 5 S s A () TS FER
(B) S &N a =R siey =nfe favg =it (I) eeT TR
(C) FHLU zTAM H, o 4 Iaa1 I (L) =Tt

(D) Ted T 9 35y o1 9l @ gy, (V) J=9d 50
Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(I), (C)-(1T), (D)-(IV)

(2)  (A)D), (B)-(IT), (C)-(IV), (D)~(IIT)

(3)  (A)(ID), (B)-(D), (O)-(1V), (D)-(LI)

(@) (A, (B)-(1D), (O)-I), (D)-IV)
Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 5330728363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-1 List-11
(A) e e (VI
(B) @ Hi=gt () SICErs &
(C) e T (L) eresf i 7=
(D) 99 ERrHgf (1v) fae < foms

Choose the correct answer from the options given below :
(1) (A)IV), (B)-(II), (CO)-(IT), (D)-(T)

(2)  (A)-(I), (B)-(ILT), (C)-(ID), (D)~(IV)

3)  (A)-(IV), (B)-(I), (C)-(I), (D)-(LI)

@) (A)-(Im), (B)-(I), (C)-(1), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 5330728363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-I1
(A) e wmemft n w9
(B) I W= (I) T e
(C) e G (1) wTes i =
(D) dradt e (1v) fote =i foamr

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(IIL), (O)-(1T), (D)-(I)

(2)  (A)-D), (B)-(II), (C}-(IL), (D)-(IV)

(3)  (A)-(IV), (B)-(I), (C)-(II), (D)-(LI)

(#) (A, (B)-(I), (O)-(I), (D)-IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 121 Question Id : 5330728364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-1 List-11
(A) HTHE TEE () TS STsis
(B) Fd T Tl & () &&5A G
(C) TAAEE (1) TeaeR™ wH
(D) HEEE S HEE (IV) 9Y I

Choose the correct answer from the options given below :
(L) (A1), (B)-(I), (O)-(10), (D)-(IV)

(2)  (A)(IV), (B)-(IIL), (C)~(1), (D)-(1)

(3) (A1, (B)-(1D), (O)-®1), (D)-(IV)

(4) (A)-(I), (B)«(IV), (C)-(1), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 121 Question Id : 5330728364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-11
(A) e TeE () ©TEys Ssis
(B) Hd T G B (II)  &exe g
(C) TAdEE () FezerR™E wH
(D) HEEE Sl HEE (IV) 9y 9

Choose the correct answer from the options given below :
(1) (A1), (B)-(ILI), (O)(IL), (D)-(IV)

(2)  (A)-IV), (B)~(IIT), (C)~(I), (D)-(II)

(3) (A1, (B)-(ID, (©)-(1), (D)-IV)

(4) (A)-(IO), (B)«(IV), (O)-(1), (D)-(I)
Options :

1.1

2.2

3.3
4.4

Question Number : 122 Question Id : 5330728365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-1 List-1I
(A) FWR = n TR
(B) oAl HATSAIH (I) 3T
(C) T&qa HeRMI (II) STEHEETE
(D) Tifers Gemart (IV) <zl

Choose the correct answer from the options given below :
(1) (AL, (B)-(D), (O)-(IV), (D)-(III)

(2)  (A)IV), (B)-(11I), (C)~(1), (D)-(II)

(@) (A)-Im), (B)-(IV), (O1D), (D)-()

4) (A, (B)-(II), (O)-(IIL), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 122 Question Id : 5330728365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-1 List-11
(A) R =R n TR
(B) oA SATSATON (I) 3T
(C) T&TA WA (Ill) STEHSETG
(D) Tiifer= gemart (IV) <@l

Choose the correct answer from the options given below :
(1) (AL, (B)-I), (O)-(IV), (D)-(1LI)

(2)  (A)-IV), (B)~(IIT), (C)~(I), (D)-(II)

(3)  (A)-Im), (B)-(1V), (O1D), (D)-()

@) (A1), (B)-(II), (O)-(IIL), (D)-(IV)
Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 5330728366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List-1 List-11
(A) IR SRAE () drermEE
(B) SHETE W 8% () fasifaaa
(C) HEFI AT (1) foamaer
(D) HIdeTe Saart (IV) BT

Choose the correct answer from the options given below :
(1) (A)(Im), (B)-(ID), (O)-(IV), (D)-(T)

(2) (A, (B)-(IV), (C)-(II), (D)~(II)

(3)  (A)-(IV), (B)-(II), (O)~(T), (D)-(IT)

(@) (A1), (B)-(I), (O)-(IL), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 5330728366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-11
(A) I8 or® () dremEE
(B) SETEl A 8 () fe=sitaeA
(C) HF9l HaMl (1n  fegmaer
(D) HIdiere Sidart (IV) oL

Choose the correct answer from the options given below :
(1) (A=), (B)-(ID), (C)-(1V), (D)-(I)

(2 (A, (BRIV), (C)-(IT), (D)~(III)

(3)  (A)(IV), (B)-(IIL), (O)~(D), (D)-(IT)

@) (A)-ID, (B)-(I), (O)-(), (D)-IV)
Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 5330728367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-I List-II
(A) Hred S g ()  ifer< Aree
(B) 3TEsl el () TSR
(C) 3%k TR T (L) I sraroft

(D) FA FHEH FA foaFry (IV) TETs STss
Choose the correct answer from the options given below :
(1) (A)D), (B)-(II), (C-(IT), (D)-(IV)

(2)  (A)-(II), (B)-(I), (C)-(IV), (D)-(I)

(3)  (A)-(ID, (B)-(IV), (O)-(1), (D)-(LI)

(@) (A)-(1V), (B)-(1D), (O)-(I1T), (D)-(1)

Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 5330728367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-I1
(A) Hred S e () ifer= Aree
(B) 3TgEl el (II) TSI
(C) %% e TS (1) I arE

(D) FA FuEH FA ferrmy (IV) <iETs STsis

Choose the correct answer from the options given below :
(D) (A1), (B)(II), (C)-(L), (D)-(IV)

(2) (A, (B)-(I), (CH(IV), (D)-(II)

(3)  (A)(ID), (B)-(IV), (O)-(1), (D)-(LI)

@) (A)IV), (B)-(1D), (O)-(1), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 5330728368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-I List-11
(A) T 5 ) 1916 - 2004
(B) T<US gEEA (1) 1922 - 1989
(©) TR v (1) 1911 - 1958
(D) = e (IV) 1910 - 2003

Choose the correct answer from the options given below :
(1) (A, (B)-(IV), (O)-(IT), (D)-(I)

2 (A)-D), (B)-(II), (O)-(I), (D)-(IV)

(3) (A, (B)-(I), (C-(IV), (D)-(IT)

4) (A1), (B)-(IV), (O)-(I), (D)-(III)

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 5330728368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-I List-1I
(A) weEm T 1) 1916 - 2004
(B) T<US g@MEA (I) 1922 - 1989
(©) R ‘v (1) 1911 - 1958
(D) = feerii (IV) 1910 - 2003

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(IV), (C)-(1D), (D)-(I)
(2 (A, (B)-(IT), (CO)-(II), (D)-IV)
(3) (A, (B)-(I), (O-(IV), (D)-(II)
@) (A)-D), (B)-(IV), (O)-(I), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330728369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e e e e
(A) T @i 319

(B) Tt diefier s sk Hrel

(C) Tosit wemit

(D) 9TE etsge ot farers

(B) Torame SR o o see

Choose the correct answer from the options given below :
1) (E) @A) (©) (B) (D)

2 (A), (B) (D), (E), (©)

@) (©), (B), (A) (D), E)

#) (A () (B). (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330728369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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w3 s G S e -
(A) TH &rF a9

(B) TH+ii Siefier s g=IR |re

(C) fo =it

(D) % 3Tege ot forers

(E) foramet SR # ot sige

Choose the correct answer from the options given below :
(M (E) (A), (©) (B), (D)

(2 (A), (B), (D). (E), (©)

(3) (©) () (A) (D), (B)

(#4) (A), (O, (B), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 5330728370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arereta = v fergor aR Qe s faafae aife -

(A) TfE 92
(B) SiHd
(C) ¥R
(D) faeEn
E) A

Choose the correct answer from the options given below :
M (©) (A) (B) (D), (E)
2) (B), (A) (©) (E), (D)
(3) (D) (A) (O, (B), (E)
(4) (A), (B) (E) (D) (©)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 5330728370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arereta = v fergor aR gty s faefae aifed -

(A) TfE 92
(B) SiHd
(C) wm=R
(D) faEn
E) H@

Choose the correct answer from the options given below :
M (©) (A) (B) (D), (E)
)  (B), (A) (©) (E), (D)
(3) (D). (A) (O, (B), (E)
(4) (A), (B) (E), (D) (©)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 5330728371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et e o forerst @i fHeT e s faafae -
(A) ‘TeTErEs wEm HeTHd

(B) “evem ey ferst ey Y

(C) “HEfie’ frrs Fefrg o

(D) “weRret” fistt efi =1

(B) ‘7 gt Siamg sl

Choose the correct answer from the options given below :
(M (©) D) (A), (E), (B)

)  (E) (B), (©). (A) (D)

(3) (B) (©). (A) (D), (E)

() (A), (B) (D), (O) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 5330728371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eeATR e o forerst @i faeT e s faefae -
(A) ‘ToTEE FEmA AT
(B) ‘e Hwty' s shefrg o
(C) ‘Wi’ fsi wefrg =1
(D) ‘=Tt fasif ehefty =
(E) ‘7 grEdl’ Sierg i
Choose the correct answer from the options given below :
(M (©) D) (A), (E), (B)
) (E), (B), (©). (A) (D)
(3 (B) (. (A), (D), (B)
(#) (A), (B) (D), (O) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 5330728372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt werA etafa s faafae
(A) TREURTE HEHTOf

(B) el wrHa

(C) REUENE it

(D) T Hsraroft

(E) g HIHTet

Choose the correct answer from the options given below :
(M D), (B), (O) (A) (E)
(2) (E), (D), (A), (B), (©)
(3) (A (B) (O (D), (E)
(4) (), (B), (A) (E), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 5330728372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 103/266



8/30/24, 11:16 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

foelt st wetaf < foefae
(A) TREURT WM

(B) el wrHa

(C) TREUEE rf

(D) T srarToft

(B) g HrSrret

Choose the correct answer from the options given below :
(M D), (B), (O) (A) (E)
(2 (E), (D), (A). (B), (©)
(3) (A (B) (O, (D), (B)
(4 (), (B), (A) (E), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 5330728373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y S SR o fet meuty s faefeen
(A) HeHg ]

(B) HeHS 4Y¥%

(C) Wewl =g

(D) =AY SrEETO

(E) irfed eAreremoff

Choose the correct answer from the options given below :
(M (B) (D) (A, (E), ©
(2 (A) (B), (O) (D) (E)
(3)  (©) (D) (A), (B), (E)
(4) (E) (A) (B) (D) (©)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 5330728373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y S AR 9 Fert ety s faafee -
(A) Heug 4]

(B) Hews IHY

(C) Wew =g

(D) =T SrEETI

(E) Wifed arreramoft

Choose the correct answer from the options given below :

(L (B), (D) (A) (E), (©
2 (A (B) (©) D) (E

)

(3 (€), O) A, ®B), ®
(4) (E) (A) (B), (D) (O

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 5330728374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Wl Feiy (wreT ufelwE) St wieftea gise werforgfq =it faerfae

(A) dfefEt € wfter
(B) Tl forag wEw
(C) Taeomert i g%
(D) Efere

() i o ufefar sen

Choose the correct answer from the options given below :
@ (A), (B), (C) (D), (E)

(2 (®B) (D) (©) E), (A)

@)  (©) (B), (B), (D), (A)

@) (), (B) ©), (A) (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 5330728374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘<z RIS FRIR’ (T wfefd) S iR wfeE Rt < freee -
(A) el § 7fre

(8) T forrg wEw

(C) Toomert it g&

(D) e

(B) gfai o ufefEr shen

Choose the correct answer from the options given below :
@ (A), (B), (C) (D), (E)

(2 (®B) (D) (©) E), (A)

3 (©). (B), (B), (D). (A)

@) (), (B) (©), (A) (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 5330728375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y S ER o faataer e -
(A) SEHa TTETH
(B) EHE HelHEg

(C) HY AIEErd S

(D) B I8 U= oHi

(E) g TI=g SR

Choose the correct answer from the options given below :
M (A, (C) (B), (D), (B)

) (A), (B), (D), (E), (©)

(3) (B), (C) (A), (B), (D)

(#4) (©), (A), (D), (B), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 5330728375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3 S ER T faataer e -
(A) SreHd TETH
(B) EHE HelHEg

(C) 1Y AfeREr e

(D) B I8 U= wHi

(E) g w9 SR

Choose the correct answer from the options given below :
M (A) (©) (E) (D), (B)

(2 (A), (B), (D). (E), (©)

(3) (B) Q. (A) (B), (D)

(#4) (©) (A), (D), (B), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330728376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qifecd 1IeH 31aTE BIfad ®heg oiEsi s faafaa aifedr -

(A) R HERT
(B) WL TH GSfarofl
(C) o e
(D) HIEA e
(E) Tiad 9t

Choose the correct answer from the options given below :
M (A, (C) (B), (D), (E)
() (E), (B), (A), (C) (D)
(3)  (B), (A). (Q) (D), (E)
(4) (A), (O, (D), (B), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330728376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hifecd SFIEH 3TaTE e Hhag oiEdi s faafaa sifedr -

(A) HERH HERT
(B) WL TH GSfarofl
(C) F Gt
(D) HIEA e
() Tiaed 9t

Choose the correct answer from the options given below :
M (A, (C) (B), (D), (E)
) (E) (B), (A), (©) (D)
(3) (B), (A). (O, (D), (E)
(4) (A), (O, (D), (B), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 5330728377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hifee s7hIeH! TaTE Bfee Fae feamfq st faafae aifed -
(A) HfemdT @i g a8

(B) =N e A |

(C) 99 <1 =1

(D) U 9 S IS

(E) @it 9 vetig

Choose the correct answer from the options given below :
(L (E) D) (©) (B), (A)

) (A), (B), (D), (E), (©)

(3)  (©) (B) (A) (D), (B)

(4) (A), (©), (D), (B), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 5330728377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hifeed eThIgHl TamE Bifae Fael feramf st faafae afedr -
(A) HfewT @i g a8

(B) =N e A |

(C) 9T = =R

(D) U 9 S IS

(E) @i 9 vetig

Choose the correct answer from the options given below :
(L (E) D) (©) (B), (A)

(2 (A), (B), (D). (E), (©)

(3) (©) () (A) (D), (B)

(4) (A), (Q), (D), (B), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 5330728378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wiefed S &NuR @ 11857 § sty s faefaer aifedr -
(A) T

(B) &SI
(C) "R =R
(D) TESHTA
(E) HesTaral

Choose the correct answer from the options given below :
M (B) ©) A) (D) E)
) (A) (©), (B), (D) (E)
(3)  (©) (D) (A), (B), (E)
(#4) (A), (B) (O), (D) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 5330728378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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wiefd S &NuR @ 11857 § stafory’ s faefaar aifedr -

(A) Tl
(B) &SI
(C) “RATH =R
(D) WESHTA
(E) HesTaral

Choose the correct answer from the options given below :
1) (B) (©), (A), (D), (E)
(2)  (A)(C), (B), (D), (E

)
G)  (©) (D) (A), (B), (E)
(@) (A, (B), (O, (D) E)

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 5330728379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘AT ST AT S SRR ST -
(1) = s

(2) THH. Sl

(3) TG SE

(4) TR YR HiS

Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 5330728379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘TR S A S SR 3R -
(1) =T =

(2) THF. Sl

(3) g EH

(4) TR YR HIS

Options :

1.1

2.2

3.3

4.4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

110/266



8/30/24, 11:16 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 137 Question Id : 5330728380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HET WA W o9 o Wl faafaer afeE -
(A) =T e gam e A
(B) T = =M
(C) T 1 wfirem, afe sr=s1 7 fg
(D) weA fefrg 31 &
(E) =+ = 99H
Choose the correct answer from the options given below :
(1) (A) (B), (O), (D), (E)
(2) (B), (), (D), (E), (A)
() (©) (D), (E), (A) (B)
(4) (D), (E) (A), (B), (O
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 5330728380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HET WA W o9 o Wl foafaer afea -
(A) =E e gam e A

(B) T = =M

(C) T 1 wfirem, afe sr=s1 7 fg
(D) e Ty 31 o=

E) F F TAH

Choose the correct answer from the options given below :
M (A, (B), (©) (D) E)

2 (B) ©), D) E), (4)

(3) (©) D) (), (A), (B)

() (D). (E), (A). (B), (©)

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 5330728381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List-1 List-1I
(A) =Tk B d () oIk
(B) W (I wife 9 =
(C) = (1) ez =
(D) SR =L a (IV) 1ot L

Choose the correct answer from the options given below :
(D) (A1), (B)-(IT), (C)-(IL), (D)-IV)

(2  (A)(ID, (B)-(ID), (C)-(IV), (D)-(I)

(3)  (A)-(IW), (B)-(IV), (O~(L), (D)-(IT)

@) (AIV), (B)-(D), (C)-(II), (D)~(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 5330728381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List-I List-11
(A) HTH BT () 9%
(B) WX Iy wifs 9 ==
(C) =mm (1) fez =
(D) SR WA (IV) 1o L

Choose the correct answer from the options given below :
(1) (A)(D), (B)-(IT), (C)-(IMT), (D)-(IV)

(2)  (A)-(1D), (B)-(I1D), (C)-(V), (D)-(I)

(3)  (A)-(Im), (B)-(IV), (O~(D), (D)-(IT)

@) (A)1V), (B)-(D), (C)-(IT), (D)~(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 5330728382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AreiHEH &8 -

(1) &7 g

(2) W Siraaroi

(3) amEed fHe

(4) v SETEETI
Options :
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1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 5330728382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AEAIEH 378 —
(1) @&HT go
(2) e Siaarft
(3) amea fara
(4) I STHfEET
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 5330728383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS Fek A S o S Tl ferfaet sifedr -
(A) TgFEd

®) fayst

(C) R FER

(D) eI T B: Tl

(E) W& W= AN

Choose the correct answer from the options given below :
1) (A), (B), (C), D) (E)

2 (B) (©), (D) (E), (A)

@) (©) D), E), (A) (B)

(4) (D), (E) (A), (B), (©)

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 5330728383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HIE Wk S o S el faafaer sifer -
(A) TG IE]

®) fe=E

(C) R AR

(D) eI T B: W

(E) W& HHl AR

Choose the correct answer from the options given below :

M (A), (B) (©) (D), (E)
2 (B) ©) D) E), (A

)

(3) (©) (D) (B), (A), (B)
(#4) (D), (E) (A), (B), (O

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072330
Question Shuffling Allowed : No

Question Id : 5330728384 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

efeal T e Fara s e A -

1947 7 Ty < faarr fRfEn swm oot e 5o foy 9 3] 980 ol | HRElst 92 o 9
fafugfa o = figm & g e sfea few ¢ fog aamdisr ag g 3 Medl ) fuspsht yersh, 19 7819 @, R
S, ST, Are fafesrga o Tt = o= o, 9Ra S % Fo8 § ue gt A3l stad stgu am | faE oy
W 28 H v anfem enfed W =i € Sfaes wifem =y ot sten anfeq @ dig owlf wfegf S sfoer sfew
TJHHTE T 431 SHAI 199 forddl | gAEs S new oe g fufugfe |, 9ef el didsia, mwi fa
effeR 78 28 |

A SHE AR g o foafq sfagfq o fom # e fooga 9 qgeg # &g o1 fod fa afgen
anfef 3 Sy o1 # o anfel | 26 ORE o ome S Al W e o 9 € 5 e fefief | dfEst
= o o |erd s © g yeier | for e ereg fug o, S Hie € seerdier | %y Fai
aR | B Afvererd @ qfew o e feaol sie | a9 99 2| HiY o Heqd Hedl Sl fos T
Hfeg AYg 7 SHTERI & e SdIsl @ deshale e e | wefafgf =i geie o7 qfes Jurst s |
g 41 fitem, o) ermie o e fafegf @ def 90 S ag A adid 7af st w@ € B 1 Siem S
S A TR UgEmEal | 381 O S ] o a9z 7S asfe ofq wefe A2 A S Ao & fHef ey i
131 91 3¢ FHuel Hell I dfe 91 e wfeon | whe 9, = #, fafexy # s=f fefv &2 o o win, i
U T 5 fomm o fos sewaf on | o 9 78 28iet =1 2 9 e onfef | ST T it et Sy |
e fedi gefa a sifedl wro uiofi feors € sife argaves T e € 1 a8 daif ey <t orge U g
T8 T fefemfa 5t 73 sfrem & S omaf st =1 5 9t

Sub questions
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Question Number : 141 Question Id : 5330728385 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

R H ] g |1 WO ST S M e AT S 7
(1) W © fAfesraa

(2) =T SEE

(3) = T A o

(4) w3

Options :

1.1

2.2

3.3
4.4

Question Number : 142 Question Id : 5330728386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eferer i =sii 9% fomam it were &g @ a1e ?
(1) wmgfHd

(2) WeAAT

(3) zfaersrf d

(4) HaHd

Options :

1.1

2.2

3.3
4.4

Question Number : 143 Question Id : 5330728387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"YaTS]’ ST ST A ST -
(1)  Srero-drgo

2) @Ry

(3) ferEw

(4) fAsmET

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 5330728388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R & |1, g € =i S fosrd fRd offd o ?

(1) =mrarE

(2) TS

(3) fa=wm

(4) wha, e d
Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 5330728389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘g’ S fag ame -

143

Options :
1.1
2.2
3.3
4.4

Question Id : 5330728384 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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efedl ze v garafd = s fei -

1947 H oy <71 foarl fARET ) STaM ge@] @i« S0 149y A6l 3e2] 980 offl | HTdiel 92l ¥ 5]
ot =1 =R fam o g e sfem | foew € fog oamdiar ag g = e | ferpsi yast, g 78 W, =
e, T, T fafceraa ord feut =m &= o, YIRa & F€ Feo § U 9et A S srem e | fae g
e 2% | 92 anfem enfed W =i € Ao wfaa @y ot s snfed @ Ui onf wfegf o sfaem wfew
THHGE Fek A1 STHAI FaE forEel | 3HeiH S HeR oe gg faftgfh 4, g8 enieh deis d, T ai fa
e 2 el d |

AT SwH AR B fe faafs sifagf < foa § foeh fooga 9re assg o wg a1 foad fa afeen
anfef 3 51y ot # o anfel) 2@ O9WE o ame S Al @ ward o v € 59 e et @ dfsh
= S e geE sl © gureen yeel | S e org ford e, S ofine € aeerier @i Y we
e | 2R qiverard @ qiey off 4e feaon e | oTeram og! 99 e | HIY o Hed Hiee! Whel fos for
g A4e 7 THTRRT B e Sdiel TR deshals el MR | Wefafgf & geie o7 dfies Jurs s |
F1g A1 firem, 41 armie 9| e fatef @ 92 98 S ag | a7 st @@ § g U Siee S
TTgehT HI U Yg=IRal | 58l 1[I S 4] &7 92 #3 qefe diel sefe w2 anfy & 7urs o fHef e Ehe
=131 o1 3¢ H=el gl 39 dfé =T v wfeon | whe 6, =1 H, fafew d g fefq &7 s S wiw, g
U A i foerme 1 fost Seshsrl 911 319 & 7% 28iel 571 ¢ S TM sfef | SE a i et 316y |
e ot gef 9 arfed sy amoft fe=s € arfes) argnvee Ger shet W S 39 Haifd i s srge o g
o T U fHfegfA 9 79 sfoem & Giedl swefs S adt =9k 5t

Sub questions

Question Number : 141 Question Id : 5330728385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ZoF H e g | @Ol STE S MeE FE AT S 2
(1) W § fHfesaa

(2) @ SEEd

(3) = T Afaew v

(4) ®g ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5330728386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfaer =i A3l g% faEw S uere Sfe @ TR ?
(1) wmgHd

(2) AT

(3) sfoeresrt d

(4) FaHd

Options :

1.1

2.2

3.3
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4.4

Question Number : 143 Question Id : 5330728387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1)  grero-drgoy
(2) @
(3) TeErw
4) FsmEy
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5330728388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R & |1, g € =i S fosrd fRd offd o ?

(1) =mrarE
(2) FHE
(3) facwm
(4) wha, e d
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330728389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘g’ S g atme -
(1) e
2) HehThd

(3) T

4) ©EF
Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 533072331
Question Shuffling Allowed : No

Question Id : 5330728390 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5330728391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SOM A W B higs sr=r 9i offet o1 ?
(1) Herge™

(2) <=

(3) <=

(4) WM

Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330728392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YEe S TS 6% afefd ?
(1) e - 9g

(2) <&t - <Ea

(3) WS - FARFN
(4) =9 TEA
Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 5330728393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘o ot S g ot -
(1) Hraa

(2) HHa

(3) R

(4) daa

Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 5330728394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘o S S HET -
(1) Terd

(2)

(3) W

(4) B I\
Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 5330728395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[l S YL 6% afe -
(1) <5@r g&y
(2) wﬁ’rm
(3) SFEORl gEY
(4) 3 € formrR
Options :
1.1
2.2
3.3
4.4

Question Id : 5330728390 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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#fedl Toe vt garaf s sere fea -

T 7Y HeTgEy 3¢ ifef, f5a 51 s o6t S9 Sa @ gt off o1 € el o 79, oA S s g wfes G gm
T HG o1 fou | 301 T T U T oo S5 S SR Sfel, SR S 7Y SN o1 i, e AR
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Sub questions

Question Number : 146 Question Id : 5330728391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SOM A W B higs sr=r 9i offet o1 ?
(1) Herge™

(2) <=

(3) <=

(4) WM

Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330728392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YEe S TS 6% afefd ?
(1) e - 9g

(2) <&t - <Ea

(3) WS - FARFN
(4) =9 TEA
Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 5330728393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘o ot S g ot -
(1) Hraa

(2) HHa

(3) R

(4) dad

Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 5330728394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Eare’ s S A -
(1) Tera

2) @

(3) Wel

(4) T IE @Y
Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 5330728395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[l S GTEYH] 6% SAlfe -

(1) =od1 3

(2) i 5 4

(3) AR 3ET

(4) 9T o
Options :
1.1
2.2
3.3
4.4

Sindhi Arabic

Section Id : 533072112
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
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Sub-Section Id :
Question Shuffling Allowed :
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533072332
Yes

Question Number : 151 Question Id : 5330728396 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Sh 03388

P o =]

S 1S hes

! HhU e
Options :
1.1
2.2
3.3
4.4

! SS9 S Ose

(1)
(2)
(3)

(4)

Question Number : 151 Question Id : 5330728396 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

ol O3y9s8

P

J...,J.&: oy les

! HhU e
Options :
1.1
2.2
3.3
4.4

PGS e O O

(1)
(2)
(3)

(4)

Question Number : 152 Question Id : 5330728397 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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e LS “ g .- e in »
JM_?_.;.}#J \__5“"&-5'\’@‘:5&*“:”%&&1 S x3 ‘:’4‘:14"-.’- (5 h
phylams aloy (1)

e i (€2

tlrn doir (3)

Jlb.k.a ely u (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 152 Question Id : 5330728397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g e prie i@ a =0 ’
l‘jé‘1_9_,‘:h_?_h1 ﬁj_}@&q}&ﬁ*@%f1 S x3 "“-’4‘:'1.:"-.’- (5 h
phylams aloy (1)

e il (2)

plrin Joir (3)

Sk ) k<. (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 153 Question Id : 5330728398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-

sl Tl b s oS s ol e 00 oS i

Options :
1.1
2.2
3.3
4.4

Question Number : 153 Question Id : 5330728398 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

_plslyes Tl somiii e ol J e O e s

Options :
1.1
2.2
3.3
4.4

S
A el (1)
197 pia (2)
Fe =t (3)

Sl ol Je (8)

Question Number : 154 Question Id : 5330728399 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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I s
gslepls (1)
s (2)
saiple (3)

ZL3sla (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 154 Question Id : 5330728399 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Sl a8 2
Golepls (1)
sl (2)
saiple (3)

Ll (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 155 Question Id : 5330728400 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

T4 dptn Ol JU (53655 o JLilo) (n Oapen 9y500m 8 (20

4 B
"'LE_J-" Q.ILh}.!

i'-LI!J—‘tj-"'\.:u.u

eliys LIS

i B 7

i e
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(1)
(2)
(3)

(4)
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Options :
1.1
2.2
3.3
4.4

Question Number : 155 Question Id : 5330728400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

q;j__;ﬁ_s__gﬂ;}bgjut;}@&u@”_\945131@;}‘,.9“'3;39_9-76.&
s Hsd 1)
ST

=L.!_J-“}-1:M (2)

v-L!J-“dl-_:l; (3)
ys S (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 156 Question Id : 5330728401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g T §aptues Tty s _‘, = T o

Pl de o 2= Al o LL‘LLLJ-‘.‘*P-‘{T_]J
s = s - 3;- -
Qsdoa Ol O,28 O Oposee (1)

o SSbs s o sjse (2)

ot 33as (3)

sein S (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 156 Question Id : 5330728401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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= . , 2= | X
Jsdo Ol O Qs> O pasm

"

(I

Options :
1.1
2.2
3.3
4.4

Question Number : 157 Question Id : 5330728402 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

o 33y 8

J..,....._,_.‘_-:jbj.‘s

O 05 pla s 15 o9l
Os> A5 pla £ Jlg 8 5ol

. ¥ k . 1

ez iz Wlpledrigbiin s 29)

z
O b o pla g SLss o9

Options :

1.1

2.2

3.3

4.4

Question Number : 157 Question Id : 5330728402 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

(1)
(2)
(3)

(4)

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)

(4)
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A 0= plr g o152 4]

O S pla g Jlop Jsl

"
i

L .
Oz Wipla g 2ln)s o

i
O s plag Sl ool
Options :
1.1
2.2
3.3
4.4

(1)
(2)
(3)

(4)

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 158 Question Id : 5330728403 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

;- j"“ ol "—‘__9-\ {5;)-@&' _)"":"1_?"," NJJ&‘.W.L'_C- ol

S 3y (1)
s (2)
sobie (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 158 Question Id : 5330728403 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

$ o pLsd S et s e Sl s ol

Sy (1)
s (2)
ouks (3)

s (4)
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Options :
1.1
2.2
3.3
4.4

Question Number : 159 Question Id : 5330728404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

—eR e e ;Gj..é; Ealssda
Al ol (1)

ol Jlae O ;s (2)
tfﬁ"i]"“ir“““;r,-* (3)

el 2 (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 159 Question Id : 5330728404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

—a® Al e :_{'Sj--ﬁ-} e ol
BESELS (1)

ol s Ol pes (2)
Q‘QL"‘QJ"“";:* (3)

el (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 160 Question Id : 5330728405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o] i - A ;"
“‘U_a1_§.._-..ﬁ& :o“\,i...ud_‘i J“"‘f“f’mj"’.z"&gjﬂ

kel (1)

S S (2)

eds  (3)

=2 (4)

Options :

1.1
2.2
3.3
4.4

Question Number : 160 Question Id : 5330728405 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

¢ f?_{wﬁ&':o'\j.ﬂ UJJM ghT:f-"_ﬁ..thJ_é&' 1__'5'.”.

ikl el (1)
S (3)
=3 (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 161 Question Id : 5330728406 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

LY
4 -

2 =3y

2l (35Lo

A

b il

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)

(4)
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Options :
1.1
2.2
3.3
4.4

Question Number : 161 Question Id : 5330728406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*

B il St Nl e s A S8
2 s e S a— e e L 2 s 3

s 3 (1)
A8 a3y (2)

A8 Gsle (3)

Al (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 162 Question Id : 5330728407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A= s Sl Tl
s (1)

Sl ol iy (2)

e

Lls (3)

d;lj.._‘%d...;’: (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 162 Question Id : 5330728407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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NIt APV T
L agh (1)

Sl ol iy (2)
gj’t'.aL.g}:f (3)

S ns  (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 163 Question Id : 5330728408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o . ¥ . e 'l ’ - I . 0t L -
j;“ﬁé Oolaw oo LIS Mea g-‘.‘&’-‘“*ﬁ"“;“ | T R EL.‘;QHL_J k:_3.,:}1.:;1,\,_;;iz,L.u

Lz (3)
Options :
1.1
2.2
3.3
4.4

Question Number : 163 Question Id : 5330728408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i . ¥ . i ol » - H A * L -
_L;M}_._’:; Oolaw oo L3S Mea g-‘.‘&““*ﬁ"“;“ WS EUQUL.}. g.,_:l:;h,_;a,L.u

L dus  (3)
Options :
1.1
2.2
3.3
4.4

Question Number : 164 Question Id : 5330728409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BE

BYE—T GV i g ¢

=l 1;.1;1_._;,51":_4 (1)

s Al (2)
b 05955 (3)

ol ol i (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 164 Question Id : 5330728409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A=l 1#-1;[_3.{.'_; (1)

s Al (2)
b 05955 (3)

ey ply sy (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 165 Question Id : 5330728410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 F N bl S g2 Zai 04 G132 bl b i

1946 (1)
1948 (2)
1951 (3)
1947 (a)

Options :

1.1

2.2

3.3

4.4

Question Number : 165 Question Id : 5330728410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

_\jq_gujbbfumu*gmaadfmgz (:gj131_g¢_«'.,.,‘;;sbLﬂ.\l—l.gJﬁiﬂgi;.¢

1946 (1)
1948 (2)
1951 (3)
1947 (a)
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Options :
1.1
2.2
3.3
4.4

Question Number : 166 Question Id : 5330728411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2

'\_fh'rf.fpl“"

JQL“ (3)

o= (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 166 Question Id : 5330728411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2

s e S LR (8 094D o e p 8 S W Jl5te gaoes (6,50 3 (63 9 denily
'\_thfJ'LL‘"

\_GKJL“ (3)

o (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 167 Question Id : 5330728412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT e i S
SE e (1)
Sl oa (2)
S (3)

ciles s (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 167 Question Id : 5330728412 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

. gJ’:g_,_; 1 25T 5
SE e (1)
Sl Oa (2)
Ser e (3)

ciles s (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 168 Question Id : 5330728413 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

'g“TEK'-"ﬁ-‘.‘ E 3 2 S L i

BIL) Bpes (D)
s desls (2)
LSl (3)

Joop mals (4)
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Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 168 Question Id : 5330728413 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

(SN s e o IS L 2 s

b 03958 (1)

SLys dils (2)

Sl LS (3)

\_}.aj.'u_‘u..].lﬁJ_g (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 169 Question Id : 5330728414 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

o~ — _:,..U).i&ﬂ_}g_';..‘_:;«l Sl s

L.:l.1_;_51_\3 (1)
shdi o =llue (3)

SSSJTe= (8)

Options :
1.1
2.2
3.3
4.4

Question Number : 169 Question Id : 5330728414 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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~l Sy piSls sl S g

shdin o Sle (3)

SSSJT= (8)

Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 170 Question Id : 5330728415 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i

: A el a3 em L3l ) s

(1)

Sl Sedd (3)
\-$J1_3_'}I_3 \_}...«_3_‘.. (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 170 Question Id : 5330728415 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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: ol al 93 em L3l ) @i
ok Lidw sl (1)
JLJLJ_.;-. (2)

Haml SdY  (3)

g:{bﬂj Salaga (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 171 Question Id : 5330728416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

b

Ldtdls (1)

Sy (2)
i &y (3)

flale L (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 171 Question Id : 5330728416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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b

Ledol= (1)

Sy (2)
S s (3)

Sl (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 172 Question Id : 5330728417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

: JR:T\'}._,Q_Jth..LuI,LSJJ‘L}U::- ‘?’_.9)_'9-.!'

Sl e (2)
e eils (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 172 Question Id : 5330728417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=1 2 (2)
e eils (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 173 Question Id : 5330728418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Jaijj}w)_-a. JJ_JM.-.G.-)_J&:- Edjls:_iﬂJu.u L.JL"-B.;"'b
Ll e k=" (1)

L-

T R R .

[EESTN )

Options :
1.1
2.2
3.3
4.4

Question Number : 173 Question Id : 5330728418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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¥ \_ft1_ﬁ';'_f"°'=-‘r"'_5"‘ uJ_Jm..d.oJ&:xEUJlS:JJ1Ju.u \_}“’_3;'5

Ll e k=" (1)

Ls

gl 139

i == .
S e (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 174 Question Id : 5330728419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 8 sl il el

- 1906 (1)

-{’_1916 (2)
5’_2015 (3)
{:1941 (4)

Options :

1.1

2.2

3.3

4.4

Question Number : 174 Question Id : 5330728419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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{:1906 (1)

. 1916 (2)

—

¢ 2015 (3)

<1941 (a)
L

Options :

1.1

2.2

3.3

4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 175 Question Id : 5330728420 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

\J&1f—‘m—? JJ—‘MU;EL_SELW 1.;1}
e Oobdatiss (1)

Sl > gisn (2)

Oy (3)
mdﬂu (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 175 Question Id : 5330728420 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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i’ )

Gl o gis” (2)

Oy (3)
,,J.«d._w (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 176 Question Id : 5330728421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st Sd? (1)

~y

.s1ﬁ_"jL. e (2)

Shdous (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 176 Question Id : 5330728421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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- s & “ ‘:‘ »
P2 Oseds = (J |
At Sd¥ (1)

3

Nl e (2)

S1e3 OIS (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 177 Question Id : 5330728422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JII:JL.;-J}.-.C}L&:.« k_,‘ﬁ""ﬂ.

d.ﬂjp::_\ :’1_3 (2)
\_5'_5"‘"_:""‘"" (3)

Lat Jbs =1 (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 177 Question Id : 5330728422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'JI’:L:“J_}‘-':' I:}th...g &_‘}V

b

Sedods (1)
.,_5;1}""’" :"’U (2)
S (3)

Ll Jus 2=l (4)
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Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 178 Question Id : 5330728423 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

e bl oSl amle | Soag &S

'L_;«Jij-ﬁ 3 S b

Lis o s
._J_j.:&

Options :
1.1
2.2
3.3
4.4

(1)
(2)
(3)

(4)

Question Number : 178 Question Id : 5330728423 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

sake 2ylal 3 S e L d_‘wwd S

“ekiss A O e Ja

Lis e Ja

Options :
1.1
2.2
3.3
4.4

(1)
(2)
(3)

(4)

Question Number : 179 Question Id : 5330728424 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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L

P Oy P g

Jae (1)
flkoas (3)
Cad 3 (4)
Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 179 Question Id : 5330728424 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

'\_fe:'l—a";l“"' i : L'JIJM L"-!J;"_"

Jas (1)
Sl olas (3)
) 3 (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 180 Question Id : 5330728425 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

p— y.
P ) oS Al L

Jst (1)
=it (2)
Gsle= (3)
Osmais (4)

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Options :
1.1
2.2
3.3
4.4

Question Number : 180 Question Id : 5330728425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

— y )'
. d&h._sl..&‘ ,aL...J Lb1

Jst (1)
=it (2)
Gsle=  (3)
Oseis (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 181 Question Id : 5330728426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

x

Loy o 1 OBy 255 1 gy
Arga (1)

ebi b (2)

ST e jls (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 181 Question Id : 5330728426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 149/266



8/30/24, 11:16 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

e »

Loz ozmam DMy O e o 5o T 0803
A (1)
el bt (2)
SERPES I ¢ )

‘e s (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 182 Question Id : 5330728427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pl e sx Tl ol
plet G (1)

\_;UE"'—?L,; (3)

-

Slasm S sl (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 182 Question Id : 5330728427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Pt e 52 Sl s el
Al G (1)

k_sﬂj"‘"" f‘IJ (2)
\_5-11-*5?1-“ (3)

s § 21y (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 183 Question Id : 5330728428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ \_{QA - .._;L.f_‘—' i_sf_.';&&' &'_."_9_‘.:-}]_'}1‘_&' bt DU

Ga8T G 1887 (2)
it o Fle  {3)

g-'?i}_:‘ f;&’} (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 183 Question Id : 5330728428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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¢ 2l kS S Sl s

v 5 : 4
U le= e Ij"" el

GuiST G IBBT

(e L
Options :
1.1
2.2
3.3
4.4

Question Number : 184 Question Id : 5330728429 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

(1)
(2)
(3)

(4)

~Hlsem e S o ey S

J.L.N d.‘:- = \j.\:.'l;._'.\.ﬂj

-

BJYS 1_':;...,
00T e
S
Options :
1.1
2.2
3.3
4.4

Question Number : 184 Question Id : 5330728429 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)

(4)
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-ﬁ@-"—y-?h‘)-? e e I el C s A gd

'“}\_‘I

.':-Ed.:"li'.k.'ﬂj (1)

;)Jml__:‘)ﬂ (2 )

e A5 (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 185 Question Id : 5330728430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

:_faT'ﬁj}l':;L,_ st L
Jst (1)

1:'-*;—:,,_';1_ (2)

oS S (3)

ey {43
Options :
1.1
2.2
3.3
4.4

Question Number : 185 Question Id : 5330728430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: gﬁT'ﬁjﬂ': L o s L
Jst (1)

13-*;—:,,_';1_ (2)

oS S (3)

ete {43
Options :
1.1
2.2
3.3
4.4

Question Number : 186 Question Id : 5330728431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@M g e SIS Sl ey
J‘SJL"U‘-.’_}S{; (1)

SN (3)

S 038 (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 186 Question Id : 5330728431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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JME"{'J*‘QA\JLM”U"JJQEjﬂ;M
sl ans (1)

SW N (3)

S odss  (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 187 Question Id : 5330728432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

52 g9y Sl 2 g e g e 2 A

[

i1520 -1050 (1)
11560 -1050 (2)
5’.1610 -1520 (3)

C1843 -1520 (a)

Options :
1.1
2.2
3.3
4.4

Question Number : 187 Question Id : 5330728432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 188 Question Id : 5330728433 Question Type : MCQ Option Shuffling : No

[

frL"_>20--'10'50 (1)
i1560-¥1050 (2)
i1610-¥1520 (3)

C1843_1520 (4)

Correct Marks : 2 Wrong Marks : 0

Pl ml e e gl g (S NS

Options :
1.1
2.2
3.3
4.4

sl Jae (1)
g;wggw (3)

Sl AL (4)

Question Number : 188 Question Id : 5330728433 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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:‘;J'ﬁlj_?_;%g;;.u gl ,\}f:,d_r_fxy:'
b e (1)

i et 2] (2)

O3l o (3)

Slsdl L (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 189 Question Id : 5330728434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i

UL B e OO TR

ok (1)
L}“’j‘" (2)
e (3)
Sy (4)

Options :

1.1

2.2

3.3

4.4

Question Number : 189 Question Id : 5330728434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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O B e OO LR

b
LJL“*J‘"'
&
Options :
1.1
2.2
3.3
4.4

(1)
(2)
(3)

(4)

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 190 Question Id : 5330728435 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i 1_6‘{’1__}‘“‘ Jabs L.}L-w-' @Jfb'ﬂ;“é F—

R
o LS
—_ +

=
sl
-

(1)
(2)

(3)

asss (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 190 Question Id : 5330728435 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

T e 3l Ol o SL 15,5 33855

Ry
o LUS

=
ks
-

Rt

ety

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)

(4)
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Options :
1.1
2.2
3.3
4.4

Question Number : 191 Question Id : 5330728436 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

: “r"b]_‘;}j"‘“f\lf:” @dae,a e o Ogs

Choosethe correctanswer fromtheoptionsgiven below:

Options :
1.1
2.2
3.3
4.4

Question Number : 191 Question Id : 5330728436 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(B)and (C) Only
(A)and (D) Only
(B)and (D) Only

(C)and (E) Only

(A)
(B)
(C)
(D)

(E)

(1)
(2)
(3)

(4)
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: 81 aredlS Gl 4 isen o 5SS

AT (A)
S8 (B)
b=y (C)
PES (D)
J&  (E)

Choosethe correctanswer fromtheoptionsgiven below:
(B)and (C)Only (1)
(A)and (D)Only (2)
(B)and (D) Only (3)

(C)and (E)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 192 Question Id : 5330728437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Dol Ll b ot il

b e 351 (A)

oo gmigis Sl pmigts (B)

Sy a9 il (C)

a3 g i}‘-""T'JJE (D)

aisdis 81 (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (B)Only (1)

(B)and (C)Only (2)

(C)and (D)Only (3)

(D)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 192 Question Id : 5330728437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Pl Ll b ot il
b gz 51 (A)
Jole smigie Sl gmigts  (B)
Sy a9 i (C)
03 52 s’ (D)
aisdi s 81 (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (C)Only (2)
(C)and (D)Only (3)
(D)and (E) Only (4)
Options :
1.1
2.2

3.3
4.4

Question Number : 193 Question Id : 5330728438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: d.é:TJ.iLuLI& E I‘_"‘-f-n-cn--w

Lis2 035 (A)

SUaes (B)

bsal K (C)

s » (D)

Choosethe correctanswer fromtheoptionsgiven below:

(D)and (E) Only (1)

(A)and (B)Only (2)

(B)and (C)Only (3)

(A)and (D)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 193 Question Id : 5330728438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: \_TQ:TJJ-L..LIS E I‘_"‘-J-:-n-cn--w

Lis2 035 (A)

SU daes (B)

Lsal oK (C)

s » (D)

Choosethe correctanswer fromtheoptionsgiven below:

(D)and (E) Only (1)

(A)and (B)Only (2)

(B)and (C)Only (3)

(A)and (D)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 194 Question Id : 5330728439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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oA ol L LIl

Al (A)

Osgis 3kl (B)

s (O

35 (D)

il by O s (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (C)Only (1)

(B)and (E) Only (2)

(D)and (E) Only (3)

(C)and (E)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 194 Question Id : 5330728439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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oA ol L LIl

Al (A)

Osgis 3kl (B)

s (O

35 (D)

il by O s (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (C)Only (1)

(B)and (E) Only (2)

(D)and (E) Only (3)

(C)and (E)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 195 Question Id : 5330728440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3

it bl

S (A)
BRI Pl (B)
= (C)
sjs=s (D)
931 g—aﬂ_ (E)

Choosethe correctanswer fromtheoptionsgiven below:

(B),(C)and (D) Only

(A),(C)and (D) Only

(A),(B)and (E) Only
(A),(B)and (C) Only
Options :
1.1
2.2
3.3
4.4

(1
(2)
(3)

(4)

Question Number : 195 Question Id : 5330728440 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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3

it bl

S (A)
BRI Pl (B)
= (C)
sjs=s (D)
931 g—aﬂ_ (E)

Choosethe correctanswer fromtheoptionsgiven below:

(B),(C)and (D) Only

(A),(C)and (D) Only

(A),(B)and (E) Only
(A),(B)and (C) Only
Options :
1.1
2.2
3.3
4.4

(1
(2)
(3)

(4)

Question Number : 196 Question Id : 5330728441 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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s USSPl 8 S @d Dbk oSl pmal o Lo O

1972 (A)
1975 (B)
1987 (C)
1992 (D)
2001 (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(C)and (E)Only (2)
(A)and (C)Only (3)

(B)and (D) Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 196 Question Id : 5330728441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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s USSPl 8 S @d Dbk oSl pmal o Lo O

1972 (A)
1975 (B)
1987 (C)
1992 (D)
2001 (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(C)and (E)Only (2)
(A)and (C)Only (3)

(B)and (D) Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 197 Question Id : 5330728442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: oL i
sl (A)
A= S 0o (B)
= o (C)
RS PTS (D)
A4 O 2l (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (C)Only (1)
(B)and (D) Only (2)
(A)and (B)Only (3)

(C)and (E)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 197 Question Id : 5330728442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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;o LU i
il (A)
A LS00 (B)
= o (C)
RS PTS (D)
A4 O 2l (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (C)Only (1)
(B)and (D) Only (2)
(A)and (B)Only (3)

(C)and (E)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 198 Question Id : 5330728443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 172/266
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= g";h-.-ﬁe-” o el 28
Aol s (A)
Ly s s (B)
Slsk 2liiise (C)
S 2% (D)

sl g (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(C)and (E)Only (2)
(B)and (D) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 198 Question Id : 5330728443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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- Aol bl
Sleisx Mg (A)
Ly e es (B)
Sk s (C)
S s (D)
gby)-.z-*--‘j (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (B)Only (1)
(C)and (E)Only (2)
(B)and (D) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 199 Question Id : 5330728444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RS a5 J Sl gl 90 s s
£1JET&L& (A)

Sl Y (B)

s sy (6)

e g8l gl (D)

ez ey (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (C)Only (2)
(D)and (E) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 199 Question Id : 5330728444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RS a5 J Sl gl 90 s s
£1JET&L& (A)

Sl Y (B)

s sy (6)

e g8l gl (D)

ez ey (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (C)Only (2)
(D)and (E) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 200 Question Id : 5330728445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 176/266
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P oal S S )L Sl Sl Vel

S JTess 151y (A)

Ligt S g 2=ty (B)

Ll dus z=1s (C)

» S (D)

Pl alat iz (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (B)Only (1)

(B)and (C)Only (2)

(C)and (D)Only (3)

(D)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 200 Question Id : 5330728445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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P oal S S )L Sl Sl Vel

S JTess 151y (A)

Ligt S g 2=ty (B)

Ll dus z=1s (C)

» S (D)

Pl alat iz (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (B)Only (1)

(B)and (C)Only (2)

(C)and (D)Only (3)

(D)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 201 Question Id : 5330728446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 178/266
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oo Oslligy b Opm 2 B s s

cJa (A)

S8 o (B)

i s (O

Fuz e (D)

sXissa (E)

Choosethe correctanswer fromtheoptionsgiven below:

(B)and (C)Only (1)

(A)and (B)Only (2)

(C)and (E)Only (3)

(A)and (E)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 201 Question Id : 5330728446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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;oo Oslligy b Ogm 2 B s s

cJa (A)

i o (B)

i s (©)

Fx e (D)

sXissla (E)

Choosethe correctanswer fromtheoptionsgiven below:

(B)and (C)Only (1)

(A)and (B)Only (2)

(C)and (E)Only (3)

(A)and (E)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 202 Question Id : 5330728447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 180/266
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ool Loz e (5t

AT o =il (B)

531“@1’ i

J2 2 i (D)

gl a (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (B)Only (1)

(B)and (C)Only (2)

(C)and (E)Only (3)

(D)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 202 Question Id : 5330728447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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P o) sl s T 5!

AT o =i (B)

531“@1’ i

J2 2 et (D)

gl caen (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (B)Only (1)

(B)and (C)Only (2)

(C)and (E)Only (3)

(D)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 203 Question Id : 5330728448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 182/266
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2 o) OIS i Juols plail a3l aom

S e (A)

Slels sl (B)

Sl se (C)
S=S= (D)
LSNPS (E)
Choosethe correctanswer fromtheoptionsgiven below:
(B),(C)and (D)Only (1)
(C),(D)and (E)Only (2)
(A),(D)and (E)Only (3)

(A),(B)and (C) Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 203 Question Id : 5330728448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2 o) OS] S Jeols plail a3l aa

S e (A)

el il (B)

Sl s (C)
== (D)
LSNPS (E)
Choosethe correctanswer fromtheoptionsgiven below:
(B),(C)and (D)Only (1)
(C),(D)and (E)Only (2)
(A),(D)and (E)Only (3)

(A),(B)and (C) Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 204 Question Id : 5330728449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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= o LT J5é da j’u”

-8 J=3, (B)
eSS (C)

bt 55 (E)
Choosethe correctanswer fromtheoptionsgiven below:
(C), (D) and (E)Only (1)
(A),(B) and (D)Only (2)
(A),(B)and (C) Only (3)
(A),(C) and(E)Only (4)
Options :
1.1
2.2

3.3
4.4

Question Number : 204 Question Id : 5330728449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 185/266
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= o LT J5é da j’u”

-8 J=3, (B)
eSS (C)

bt 55 (E)
Choosethe correctanswer fromtheoptionsgiven below:
(C), (D) and (E)Only (1)
(A),(B) and (D)Only (2)
(A),(B)and (C) Only (3)
(A),(C) and(E)Only (4)
Options :
1.1
2.2

3.3
4.4

Question Number : 205 Question Id : 5330728450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 186/266
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IR (TP (s S | oLy

b gs el (B)

s ol 0]

03,80 GHgsl (D)

ssiss 20 (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A),(D)and (E)Only (1)

(A).(B)and (D) Only (2)

(A),(C)and (E)Only (3)

(A),(B)and (E)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 205 Question Id : 5330728450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IR (TP (s S | oLy

b gs el (B)

s ol 0]

03,80 GHgsl (D)

ssiss 20 (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A),(D)and (E)Only (1)

(A).(B)and (D) Only (2)

(A),(C)and (E)Only (3)

(A),(B)and (E)Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 206 Question Id : 5330728451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 188/266
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on) Qe fazale sl
Sl (A)
ko> (B)

se= (C)

St (D)
st (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(C)and (D)Only (2)
(B)and (E) Only (3)

(A)and(C)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 206 Question Id : 5330728451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o] Qalile fazale sl
Sl (A)
k= (B)

se= (C)

Sa e (D)
st (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(C)and (D)Only (2)
(B)and (E) Only (3)

(A)and(C)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 207 Question Id : 5330728452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 190/266
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___9._._.':'_ o A .'Jl.'......__fa.-?. i)‘:"ﬂ ‘_}Jﬁ_&;

-

L,;U-‘ff—.; (B)

Aol sss (C)

SLl oy (D)
Sl 5 (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A),(B)and (C) Only (1)
(C),(D) and (E)Only (2)
(A),(B)and (E)Only (3)

(B),(C) and(D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 207 Question Id : 5330728452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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___9._._.':'_ o A .'Jl.'......__fa.-?. i)‘:"ﬂ ‘_}Jﬁ_&;

-

L,;U-‘ff—.; (B)

Aol sss (C)

SLl oy (D)
Sl 5 (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A),(B)and (C) Only (1)
(C),(D) and (E)Only (2)
(A),(B)and (E)Only (3)

(B),(C) and(D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 208 Question Id : 5330728453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 192/266
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p ol Osilynt O sl e
Seli (A)

b

\_55(:;“« ks (C)

Sl La (D)

S s (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (D)Only (1)

(B)and (C)Only (2)

(A)and (B)Only (3)

(B)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 208 Question Id : 5330728453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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p ol Osilynt O sl e
Seli (A)

b

\_55(:;“« ks (C)

Sl La (D)

S s (E)

Choosethe correctanswer fromtheoptionsgiven below:

(A)and (D)Only (1)

(B)and (C)Only (2)

(A)and (B)Only (3)

(B)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 209 Question Id : 5330728454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 194/266
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: a3 Jus
ehds (A)
caogl i, (B)
S s ()
b e o i (D)
23 52 g2y (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (C)Only (2)
(C)and (E)Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 209 Question Id : 5330728454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: a3 Jus
ehds (A)
caogl i, (B)
S s ()
b e o i (D)
23 52 g2y (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (C)Only (2)
(C)and (E)Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 210 Question Id : 5330728455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 196/266
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JATJ}LI:- g U-PL«-A S8

= (A)
=l (B)
ol )5 (C)

74 O 2 ly (D)
st (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (D)Only (1)
(B)and (C)Only (2)
(D)and (E) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 210 Question Id : 5330728455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 197/266



8/30/24, 11:16 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Ja;TJ_gLal:h : UfL@A TS

= (A)
sa=l (B)
SIVENS ()

74 O 2 fy (D)
st (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (D)Only (1)
(B)and (C)Only (2)
(D)and (E) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 211 Question Id : 5330728456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Bl |
(b3 (A)
sz (B)
Oe (C)
s (D)
557 ()

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(C)and (D)Only (2)
(C)and (E)Only (3)

(D)and (E) Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 211 Question Id : 5330728456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Bl |
(b3 (A)
sz (B)
Oe (C)
s (D)
557 ()

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(C)and (D)Only (2)
(C)and (E)Only (3)

(D)and (E) Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 212 Question Id : 5330728457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: o) ety 4 DL
Ui (A)
shlgl e (B)
Eldll ghie oo (C)
Se==y (D)
=it (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (E) Only (2)
(B)and (C)Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 212 Question Id : 5330728457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: o) ety 4 DL
Ui (A)
shlgl e (B)
Eldll ghie oo (C)
Se==y (D)
=it (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (E) Only (2)
(B)and (C)Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 213 Question Id : 5330728458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o) laks e Ses

S5 (A)

& (B)
o (C)
)57 (D)
s (E)

Choosethe correctanswer fromtheoptionsgiven below:
(B)and (E) Only (1)
(A)and (B)Only (2)
(D)and (C)Only (3)

(B)and (C)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 213 Question Id : 5330728458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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o) laks e Ses

S5 (A)

& (B)
o (C)
)57 (D)
s (E)

Choosethe correctanswer fromtheoptionsgiven below:
(B)and (E) Only (1)
(A)and (B)Only (2)
(D)and (C)Only (3)

(B)and (C)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 214 Question Id : 5330728459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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A4k~ (A)

Sl gl 2= (B)

T ()

PR S (D)

Choosethe correctanswer fromtheoptionsgiven below:

(C)and (D)Only (1)

(A)and (B)Only (2)

(C)and (E)Only (3)

(D)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 214 Question Id : 5330728459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 205/266
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A4k~ (A)

Sl gl 2= (B)

T ()

PR S (D)

Choosethe correctanswer fromtheoptionsgiven below:

(C)and (D)Only (1)

(A)and (B)Only (2)

(C)and (E)Only (3)

(D)and (E) Only (4)

Options :

1.1
2.2

3.3
4.4

Question Number : 215 Question Id : 5330728460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 206/266
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bl 0,5 b sk
PSS axlT (A)

Ssitous  (B)

e sl ()

S aad 1y 7o (D)

ez ey (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (C)Only (2)
(D)and (E) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 215 Question Id : 5330728460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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bl 0,5 b sl
PSS axlT (A)

Ssitous  (B)

pegs sl ()

S b (D)

ez ey (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A)and (B)Only (1)
(B)and (C)Only (2)
(D)and (E) Only (3)

(C)and (D)Only (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 216 Question Id : 5330728461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 208/266
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| PSS | Y

=i (1) Sk (A)

gj;}"!' 931’ (1I) sy b (B)

b2 S o (1) 5L 5 (€)

bt 0858 e (IV) 8,5 saileail o (D)

Choosethe mostappropriate answer from the options given below
(D)-(1), (C)-(111), (B)-(11),(A)-(1IV) (1)
(D)-(111), (C)-(1), (B)-(1V), (A)-(11) (2)

(D)-(111), (C)-(1V),(B)-(1I), (A)-(1) (3)

(D)-(1V), (C)-(1), (B)-(1I), (A)-(111) (4)
?pltlons:
2.2
3.3
4.4

Question Number : 216 Question Id : 5330728461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 209/266
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| PSS | Y

=i (1) Sk (A)

gj;}"!' 931’ (1I) sy b (B)

b2 S o (1) 5L 5 (€)

bt 0858 e (IV) 8,5 saileail o (D)

Choosethe mostappropriate answer from the options given below
(D)-(1), (C)-(111), (B)-(11),(A)-(1IV) (1)
(D)-(111), (C)-(1), (B)-(1V), (A)-(11) (2)

(D)-(111), (C)-(1V),(B)-(1I), (A)-(1) (3)

(D)-(1V), (C)-(1), (B)-(1I), (A)-(111) (4)
(1).plt10ns:
2.2
3.3
4.4

Question Number : 217 Question Id : 5330728462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 210/266
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- e yei [ -
&=l (1) 3 emn (A)
5515 5515 (ID) iug:: (B)
y=3, (III) 8y L ()
L4 (IV) i (D)

Choosethe mostappropriate answer from the options given below

(D)-(1ID), (C)-(1V), (B)-(111), (A)-(1)
(D)-(1), (C)-(1I), (B)-(1V), (A)-(11I)
(D)-(1), (C)-(1), (B)-(1V), (A)-(11I)
(D)-(111), (C)-(11),(B)-(1), (A)-(IV)

(1).plt10ns:

2.2

3.3

4.4

Question Number : 217 Question Id : 5330728462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)
(4)
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- e yei [ -
&=l (1) 3 emn (A)
5515 5515 (ID) iug:: (B)
y=3, (III) 8y L ()
L4 (IV) i (D)

Choosethe mostappropriate answer from the options given below

(D)-(1ID), (C)-(1V), (B)-(111), (A)-(1)
(D)-(1), (C)-(1I), (B)-(1V), (A)-(11I)
(D)-(1), (C)-(1), (B)-(1V), (A)-(11I)
(D)-(111), (C)-(11),(B)-(1), (A)-(IV)

(1).p1t10ns:

2.2

3.3

4.4

Question Number : 218 Question Id : 5330728463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)
(4)
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- cnyei [ -y
o= b (D) wdudd (A)
Ly o= 5 (ID) S5 5= (B)
sa=! (III) &m s~ (C)
Cigasm oil 2 o2 (IV) S g2 (D)

Choosethe mostappropriate answer from the options given below
(D)-(11I), (C)-(1D),(B)-(1), (A)-(IV) (1)
(D)-(1V), (C)-(111), (B)-(1I), (A)-(1)  (2)
(D)-(1), (C)-(111), (B)-(1I), (A)-(IV)  (3)
(D)-(1), (C)-(1V),(B)-(1I), (A)-(1I1) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 218 Question Id : 5330728463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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- cnyei [ -y
o= b (D) wdudd (A)
Ly o= 5 (ID) S5 5= (B)
sa=! (III) &m s~ (C)
Cigasm oil 2 o2 (IV) S g2 (D)

Choosethe mostappropriate answer from the options given below
(D)-(11I), (C)-(1D),(B)-(1), (A)-(IV) (1)
(D)-(1V), (C)-(111), (B)-(1I), (A)-(1)  (2)
(D)-(1), (C)-(111), (B)-(1I), (A)-(IV)  (3)
(D)-(1), (C)-(1V),(B)-(1I), (A)-(1I1) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 219 Question Id : 5330728464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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II- o,ed L=z gi
A1 (1) p ED o ot DS (L pflen (A)
=3, (1I) o 2bydll S ot o (B)
PN Y sl 5 b s (ET
Snsaaguar Jowea (V) Ve (5 e j“‘_:’"‘iJ ,.J';a.f;—, gsf (D)

Choose the mostappropriate answer from the options given below
(D)-(1V), (C)-(1D), (B)-(1), (A)-(1Il) (1)
(D)-(I11), (C)-(1V), (B)-(1I), (A)-(1)  (2)
(D)-(1I1), (C)-(1V), (B)-(1), (A)-(1I)  (3)

(D)-(1V), (C)-(1),(B)-(1I), (A)-(1I1)  (4)
?pltlons:
2.2
3.3
4.4

Question Number : 219 Question Id : 5330728464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 215/266
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II- b I =iz
s (D) B o o B L aflen (A)
J=3, (1I) o 2bydll S ol o (B)
s D sl B b s (ED)
Csnca g yoesa (TN ) S j“‘_:’"‘iJ ,.J';a.f;—, gsf (D)

Choose the mostappropriate answer from the options given below
(D)-(1V), (C)-(1D), (B)-(1), (A)-(1Il) (1)
(D)-(I11), (C)-(1V), (B)-(1I), (A)-(1)  (2)
(D)-(1I1), (C)-(1V), (B)-(1), (A)-(1I)  (3)

(D)-(1V), (C)-(1),(B)-(1I), (A)-(1lI) (4)
(1).plt10ns:
2.2
3.3
4.4

Question Number : 220 Question Id : 5330728465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 216/266
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II- i I~ sygi
== (D Stz (A)
o3k g_,JT (11) Slia e 6 (B)
&5 0 (D) Hon¥= (C)
Sk oy (IV) BLC - (D)

Choosethe mostappropriate answer from the options given below
(D)-(1), (C)-(11), (B)-(111), (A)-(1V) (1)
(D)-(1V), (C)-(11), (B)-(ILI), (A)-(1)  (2)
(D)-(111), (C)-(11),(B)-(1), (A)-(IV)  (3)
(D)-(IV). (C)-(1D), (B)-(I), (A)-(11I)  (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 220 Question Id : 5330728465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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II- i L= g
== (D Stz (A)
o3k g_,ﬁ (11) S1s e 6 (B)
&5 0 (D) 3= (C)
Sy oy (IV) 5l L (D)

Choosethe mostappropriate answer from the options given below
(D)-(1), (C)-(11), (B)-(111), (A)-(1V) (1)
(D)-(1V), (C)-(11), (B)-(ILI), (A)-(1)  (2)
(D)-(111), (C)-(11),(B)-(1), (A)-(IV)  (3)
(D)-(IV), (C)-(1D), (B)-(I), (A)-(11I) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 221 Question Id : 5330728466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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- e [ - cuyed
e A (D ‘09,80 SAigsle (A)
5 1 e (IT) "Gk b e WS 7 (B)
S s (LD ity g ()
B 5z (IV) i g2 e 52855 (D)

Choosethe mostappropriate answer from the options given below
(D)-(1V),(C)-(1D), (B)-(11T), (A)-(1) (1)
(D)-(11), (C)-(1), (B)-(11I), (A)-(IV)  (2)
(D)-(1V), (C)-(D), (B)-(11D), (A)-(1I)  (3)

(D)-(11), (C)-(1), (B)-(1V), (A)-(1I1)  (4)
?pltlons:
2.2
3.3
4.4

Question Number : 221 Question Id : 5330728466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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- e [ - cuyed
e A (D ‘09,80 SAigsle (A)
5 1 e (IT) "Gk b e WS 7 (B)
S s (LD ity g ()
B 5z (IV) i g2 e 52855 (D)

Choosethe mostappropriate answer from the options given below
(D)-(1V),(C)-(1D), (B)-(11T), (A)-(1) (1)
(D)-(11), (C)-(1), (B)-(11I), (A)-(IV)  (2)
(D)-(1V), (C)-(D), (B)-(11D), (A)-(1I)  (3)

(D)-(11), (C)-(1), (B)-(1V), (A)-(1I1)  (4)
?pltlons:
2.2
3.3
4.4

Question Number : 222 Question Id : 5330728467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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II- cuyei [- e
(s (D e ysla! (A)
sl 1D E;ui?gp_.& (B)

sLloeat (TIT) Syl Juga (C)
g3 (IV) S Ibesgs 2,8 (D)

Choosethe mostappropriate answer from the options given below

(D)-(11I), (C)-(1V), (B)-(1), (A)-(1I)
(D)-(11), (C)-(1), (B)-(111), (A)-(IV)
(D)-(1), (C)-(11), (B)-(1V), (A)-(11I)
(D)-(IV), (C)-(11I), (B)-(1I), (A)-(I)

?pltlons:

2.2

3.3

4.4

Question Number : 222 Question Id : 5330728467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)
(4)
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II- cuyei | T
(s (D ey sla! (A)
5l 1D k__ﬁ.‘HjSTQL_,& (B)

sLloeat (IIT) Syl Juga (C)
ghas(IV) S a5 (D)

Choosethe mostappropriate answer from the options given below

(D)-(11I), (C)-(1V), (B)-(1), (A)-(1I)
(D)-(11), (C)-(1), (B)-(111), (A)-(IV)
(D)-(1), (C)-(11), (B)-(1V), (A)-(11I)
(D)-(1V), (C)-(11D), (B)-(1I), (A)-(I)

?pltlons:

2.2

3.3

4.4

Question Number : 223 Question Id : 5330728468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)
(4)
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- cnyei | T
Oladts (D) ikl sl (A)
o i (1) 9,45 7 8152 (B)
Ol (TI1) Sl = (C)
#< (IV) Slsiex Niss (D)

Choosethe mostappropriate answer from the options given below

(D)-(1), (C)-(1V),(B)-(1I), (A)-(I1I)
(D)-(11D), (C)-(11),(B)-(1V), (A)-(I)
(D)-(11), (C)-(1), (B)-(11I), (A)-(IV)
(D)-(IV), (C)-(11D), (B)-(I), (A)-(1I)

(1).plt10ns:

2.2

3.3

4.4

Question Number : 223 Question Id : 5330728468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)
(4)
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- cnyei | T
Oladts (D) ikl sl (A)
o i (1) 9,45 7 8152 (B)
Ol (TI1) Sl = (C)
#< (IV) Slsiex Niss (D)

Choosethe mostappropriate answer from the options given below

(D)-(1), (C)-(1V),(B)-(1I), (A)-(I1I)
(D)-(11D), (C)-(11),(B)-(1V), (A)-(I)
(D)-(11), (C)-(1), (B)-(11I), (A)-(IV)
(D)-(IV), (C)-(11D), (B)-(I), (A)-(1I)

(1).p1t10ns:

2.2

3.3

4.4

Question Number : 224 Question Id : 5330728469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

(1)
(2)
(3)
(4)
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M- e [ - coygd
sebans (D) 935 4 nin G
S5 (1) #5231 (B)
Sl s (1D sl sl e (C)
Seye’ (V) WS 2D w1 g2 (D)

Choosethe mostappropriate answer from the options given below
(D)-(1V), (C)-(1D), (B)-(I1I), (A)-(I) (1)
(D)-(11),(C)-(1V), (B)-(1), (A)-(I11) (2)
(D)-(111), (C)-(1), (B)-(1V), (A)-(11) (3)

(D)-(1), (C)-(11I), (B)-(1I),(A)-(1V) (4)
(1).p1t10ns:
2.2
3.3
4.4

Question Number : 224 Question Id : 5330728469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 225/266
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M- e | Y
b (D) 955 92 e (A)
A5 (D) s g (B)
St = (1D xly b e (C)
e (V) S xS il g2 (D)

Choosethe mostappropriate answer from the options given below
(D)-(1V), (C)-(1D), (B)-(I1I), (A)-(I) (1)
(D)-(11),(C)-(1V), (B)-(1), (A)-(I11) (2)
(D)-(111), (C)-(1), (B)-(1V), (A)-(11) (3)

(D)-(1), (C)-(11I), (B)-(11),(A)-(1V) (4)
?pltlons:
2.2
3.3
4.4

Question Number : 225 Question Id : 5330728470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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| I~ b

1916-2004 (1) L ol (A)

1922-1989 (11) S ki dses (B)

1911-1958 (111) et iU (C)

1910-2003 (1V) 5505 & (D)

Choosethe mostappropriate answer from the options given below
(D)-(D), (C)-(11), (B)-(1V), (A)-(1IT) (1)
(D)-(1V), (C)-(11D), (B)-(1I), (A)-(I)  (2)
(D)-(11), (C)-(IV), (B)-(1), (A)-(1II)  (3)
(D)-(111), (C)-(D), (B)-(1V), (A)-(1I)  (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 225 Question Id : 5330728470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 227/266
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| RS [

1916-2004 (1) L o1y (A)

1922-1989 (11) S ki dien (B)

1911-1958 (111) et it (C)

1910-2003 (1V) 5505 e (D)

Choosethe mostappropriate answer from the options given below
(D)-(D), (C)-(11), (B)-(1V), (A)-(1IT) (1)
(D)-(1V), (C)-(11D), (B)-(1I), (A)-(I)  (2)
(D)-(11), (C)-(IV), (B)-(1), (A)-(1II)  (3)
(D)-(111), (C)-(D), (B)-(1V), (A)-(1I)  (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 226 Question Id : 5330728471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 228/266
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-

el Syl gds (A)
Jlylplaz Jo gde (B)
Su= i (C)
Sl cihllas sz (D)
sl g 5,33 gsilby  (E)
Choosethe correctanswer fromtheoptionsgiven below:
(E),(A).(C),(B),(D) (1)
(A),(B),(D),(E),(C) (2)
(), (B), (A),(D).(E) (3)

(A),(C),(B),(D).(E) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 226 Question Id : 5330728471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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:JMRQJtW%gimﬁa&L@ﬁ&

-

el Syl gd (A)
Jylplaz Jo gd (B)
Su= i (C)
ol bl iz (D)
sl g 2535 sy (E)
Choosethe correctanswer fromtheoptionsgiven below:
(E),(A).(C),(B),(D) (1)
(A),(B),(D),(E),(C) (2)
(C),(B), (A),(D),(E) (3)

(A),(C),(B),(D).(E) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 227 Question Id : 5330728472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 230/266
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ey (B)
<k (C)
1535 (D)
s+ (E)

Choosethe correctanswer fromtheoptionsgiven below:
(C).(A),(B),(D).(E) (1)
(B),(A),(C),(E),(D) (2)
(D), (A), (C),(B),(E) (3)

(A),(B),(E),(D),(C) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 227 Question Id : 5330728472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 231/266
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eny (B)
<k (C)
1535 (D)
s+ (E)

Choosethe correctanswer fromtheoptionsgiven below:
(C),(A),(B),(D).(E) (1)
(B),(A),(C),(E),(D) (2)
(D), (A), (C),(B),(E) (3)

(A),(B),(E),(D),(C) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 228 Question Id : 5330728473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 232/266
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sl gl ga Sl (gdi OIS L) o
S Ok =" Sl
5 5:—-131),« “ptmes M

S i f e sty g’

Choosethe correctanswer fromtheoptionsgiven below:

(C),(D),(A),(E).(B)
(E), (B), (C),(A),(D)
(B),(C),(A),(D).(E)

(A),(B),(D),(C).(E)
Options :
1.1
2.2
3.3
4.4

(A)

(B)
(C)

(D)

(1)
(2)
(3)
(4)

Question Number : 228 Question Id : 5330728473 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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S i f e sty g’

Choosethe correctanswer fromtheoptionsgiven below:

(C),(D),(A),(E).(B)
(E), (B), (C),(A),(D)
(B),(C),(A),(D).(E)

(A),(B),(D),(C).(E)
Options :
1.1
2.2
3.3
4.4

(A)

(B)
(C)

(D)

(1)
(2)
(3)
(4)

Question Number : 229 Question Id : 5330728474 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Pk > s Qs (S
oSk i (A)
Eina &y (B)
S 13 6 (€)
Sz ey (D)
Mail oz (E)
Choosethe correctanswer fromtheoptionsgiven below:
(D), (B).(C),(A).(E) (1)
(E).(D),(A),(B),(C) (2)
(A),(B),(C),(D).(E) (3)

(C),(B),(A),(E),(D) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 229 Question Id : 5330728474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Db 2 s Qs (S
oSl i (A)
Eina &y (B)
Slet 1> B (C)
Se=yply (D)
Meil oz (E)
Choosethe correctanswer fromtheoptionsgiven below:
(D), (B),(C),(A),(E) (1)
(E).(D),(A),(B),(C) (2)
(A),(B),(C),(D),(E) (3)

(C),(B),(A),(E),(D) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 230 Question Id : 5330728475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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sy ders (B)
s*g et (C)
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g.-‘-wj_!“_i.' cass (E)

Choosethe correctanswer fromtheoptionsgiven below:

(B),(D),(A),(E),(C) (1)
(A),(B),(C),(D),(E) (2)
(C),(D),(A),(B),(E) (3)

(E),(A),(B),(D),(C) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 230 Question Id : 5330728475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e deme (A)
sy ders (B)
s*g et (C)
e lizgS (D)
g.-‘-wj_!“_i.' cass (E)

Choosethe correctanswer fromtheoptionsgiven below:

(B),(D),(A),(E),(C) (1)
(A),(B),(C),(D),(E) (2)
(C),(D),(A),(B),(E) (3)

(E),(A),(B),(D),(C) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 231 Question Id : 5330728476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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b g AU g > (O S5 USleS S e
e S Osa (A)
b 5 s \_i,j (B)
(i gz gl (C)
s (D)
p ki O s p s (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A),(B),(C),(D).(E) (1)
(B). (D), (C), (E),(A) (2)
(C).(B),(E).(D).(A) (3)

(E),(B), (C).(A),(D) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 231 Question Id : 5330728476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choosethe correctanswer fromtheoptionsgiven below:
(A),(B),(C),(D).(E) (1)
(B). (D), (C), (E),(A) (2)
(C).(B),(E).(D).(A) (3)

(E),(B), (C).(A),(D) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 232 Question Id : 5330728477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choosethe correctanswer fromtheoptionsgiven below:

(A),(C),(E),(D),(B)
(A),(B), (D), (E),(C)
(B),(C), (A),(E),(D)

(C), (A),(D),(B),(E)

Options :
1.1
2.2
3.3
4.4

(A)
(B)
(C)
(D)

(E)

(1)
(2)
(3)

(4)

Question Number : 232 Question Id : 5330728477 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Choosethe correctanswer fromtheoptionsgiven below:

(A),(C),(E),(D),(B)
(A),(B), (D), (E),(C)
(B),(C), (A),(E),(D)

(C), (A),(D),(B),(E)

Options :
1.1
2.2
3.3
4.4

(A)
(B)
(C)
(D)

(E)

(1)
(2)
(3)

(4)

Question Number : 233 Question Id : 5330728478 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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D ol il ga S0 s Jola 3y ly) sl L
L=k (A)
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At (O)
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b 03,955 (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A),(C),(B),(D),(E) (1)
(E),(B),(A),(C),(D) (2)
(B).(A),(C),(D).(E) (3)

(A),(C),(D),(E),(B) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 233 Question Id : 5330728478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choosethe correctanswer fromtheoptionsgiven below:
(A),(C),(B),(D).(E) (1)
(E),(B),(A),(C),(D) (2)
(B),(A).(C).(D),(E) (3)

(A),(C),(D),(E),(B) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 234 Question Id : 5330728479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choosethe correctanswer fromtheoptionsgiven below:

(E). (D), (C),(B),(A)
(A),(B),(D),(E),(C)
(C),(B),(A),(D),(E)

(A),(C),(D),(B),(E)

Options :
1.1
2.2
3.3
4.4

(A)
(B)
(C)
(D)

(E)

(1)
(2)
(3)

(4)

Question Number : 234 Question Id : 5330728479 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Choosethe correctanswer fromtheoptionsgiven below:

(E),(D),(C),(B).(A)
(A),(B),(D),(E),(C)
(C),(B),(A),(D),(E)

(A), (C), (D), (B),(E)

Options :
1.1
2.2
3.3
4.4

(A)
(B)
(C)
(D)

(E)

(1)
(2)
(3)

(4)

Question Number : 235 Question Id : 5330728480 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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S6 5 (A)
e3es (B)
Jin S (0
g (D)
Ssy—  (E)

Choosethe correctanswer fromtheoptionsgiven below:
(B).(C), (A),(D).(E) (1)
(A),(C),(B),(D),(E) (2)
(C),(D),(A),(B).(E) (3)

(A),(B),(C),(D),(E) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 235 Question Id : 5330728480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choosethe correctanswer fromtheoptionsgiven below:
(B).(C), (A),(D).(E) (1)
(A),(C),(B),(D),(E) (2)
(C),(D),(A),(B).(E) (3)

(A),(B),(C),(D),(E) (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 236 Question Id : 5330728481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2SRl gl o oI

Lidis (1)
S Sl (2)
Sl st (3)

Options :
1.1
2.2
3.3
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4.4

Question Number : 236 Question Id : 5330728481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

: A5l Gl o =

Ll dbs (1)
S =l (@)
LS st (3)

Options :
1.1
2.2
3.3
4.4

Question Number : 237 Question Id : 5330728482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dl s mome g2 2 G O
s akdietdd A
Ol 2= s (B)
B et il OIS Ji L (C)
5= 52 Oy 00 (D)
Ok 2= ls= ()
Choosethe correctanswer fromtheoptionsgiven below:
(A), (B),(C),(D),(E) (1)
(B),(C),(D).(E).(A) (2)
(C),(D).(E).(A).(B) (3)

(D), (E),(A),(B).(C) (4)
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Options :
1.1
2.2
3.3
4.4

Question Number : 237 Question Id : 5330728482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
s sl gl @Mf”“"\fi“i"}m
P ﬁ;.‘; :}J..a.‘; as n:'I} (A)
Ol 2,5 s (B)
A eyl Ol Ju k. (C)
@,54% u.}_;»..jl-’h) ks (D)
Ol 2= 5= (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A),(B),(C),(D),(E) (1)
(B),(C),(D),(E),(A) (2)
(C),(D),(E),(A),(B) (3)
(D),(E),(A),(B),(C) (4)
Options :
1.1
2.2

3.3
4.4

Question Number : 238 Question Id : 5330728483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choosethe mostappropriate answer from the options given below
(D)-(1V), (C)-(1ID), (B)-(1I), (A)-(I) (1)
(D)-(1), (C)-(1V),(B)-(1IL), (A)-(11)  (2)
(D)-(11), (C)-(1), (B)-(1V), (A)-(1IT)  (3)
(D)-(111), (C)-(1I),(B)-(1), (A)-(IV)  (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 238 Question Id : 5330728483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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15523 (11D) > (C)
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Choosethe mostappropriate answer from the options given below
(D)-(1V), (C)-(1ID), (B)-(1I), (A)-(I) (1)
(D)-(1), (C)-(1V),(B)-(1IL), (A)-(1I)  (2)
(D)-(11), (C)-(1), (B)-(1V), (A)-(1IT)  (3)
(D)-(111), (C)-(11),(B)-(1), (A)-(IV)  (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 239 Question Id : 5330728484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 (1)
Sl Daise (2)
\}JJJﬁ-L-ﬂJ_B (3)

St ol ()

Options :
1.1
2.2
3.3
4.4

Question Number : 239 Question Id : 5330728484 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

o (1)
Sl i (2)

JJ_?.H).LH.U (3)

P ZLY ol (4)
Options :

1.1

2.2

3.3

4.4

Question Number : 240 Question Id : 5330728485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sy K (A)
i (B)

Sl gl= ()

28 ez 34 93 (D)

K

S g?-"-";:‘ (E)

Choosethe correctanswer fromtheoptionsgiven below:
(A),(B).(C).(D).(E) (1)
(B),(C), (D), (E),(A) (2)
(C), (D), (E), (A),(B) (3)

(D), (E),(A),(B),(C) (4)

Options :
1.1
2.2
3.3
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4.4

Question Number : 240 Question Id : 5330728485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st U ks mms 2 2 2 O, Sl
Sy S (A)
giie (B)
o= gl (0)
4 2 33 55 (D)
&b gz (E)
Choosethe correctanswer fromtheoptionsgiven below:
(A),(B),(C),(D),(E) (1)
(B),(C), (D), (E),(A) (2)
(C),(D),(E),(A).(B) (3)

(D), (E),(A).(B),(C) (4)

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072333
Question Shuffling Allowed : No

Question Id : 5330728486 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :

No Question Pattern Type : NonMatrix
Question Numbers : (241 to 245)
Question Label : Comprehension
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Sub questions

Question Number : 241 Question Id : 5330728487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3

§ T 9 D Wl JSBL O3 g3 =
el e Jle (1)

lhalea s |oa (2)

Foisie ia (3)

Shla s Ope  (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 242 Question Id : 5330728488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

§ A 5 D sz 550 Gy 05 2 kel
& ol (1)

S (@)

S o (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 243 Question Id : 5330728489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- g 2 B

s Gy (1)

e B (2)
Sy (3)
SG (8)
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Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 244 Question Id : 5330728490 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

ﬁ_‘ déb_s‘_;_, \_f’:' UWI’:'__U.‘?. .Jj,f-,'-" = l_;"‘-’ :J.T!J....u u_& ‘_!_JLi

Options :
1.1
2.2
3.3
4.4

(1)
(2)
(3)

(4)

Question Number : 245 Question Id : 5330728491 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

- dﬁ?i@f ' l._“;-_L.....

W (1)
s (2)
5 (3)
sk (4)

Options :

1.1

2.2

3.3

4.4

Question Id : 5330728486 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :

No Question Pattern Type : NonMatrix
Question Numbers : (241 to 245)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Sub questions

Question Number : 241 Question Id : 5330728487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 258/266



8/30/24, 11:16 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

3

T BT 9 D el SOl O3 565 4 =
el e Jle (1)

olalae e (2)

S e (3)

Al s O (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 242 Question Id : 5330728488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A 5 oS ) s 550 )8 095 g e
& ol (1)

St (@)

S o (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 243 Question Id : 5330728489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- g 2 Bl

sy (3)
Su ()
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Options :
1.1
2.2
3.3
4.4

Question Number : 244 Question Id : 5330728490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁ_‘ déb_s‘_;_, \_f’:' le‘—:-‘__g_i..‘?- _;J,f-,'-" = l_;"‘-‘ :J.T':J....u \_5-5 ‘_!!_JL?

Lefl L (1)

g~ (2)
sy (3)

25 e &8 et (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 245 Question Id : 5330728491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- dﬁ?;l..'u.aj_ﬁ.- ' l._“;-_L.....

Woo(1)
2=
5 (3)
=Sk (4)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072334
Question Shuffling Allowed : No

Question Id : 5330728492 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (246 to 250)
Question Label : Comprehension
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Sub questions

Question Number : 246 Question Id : 5330728493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ QML";.L:,__? P o 0;1d;=+,’:AdAL5.".._;1_~ e | Y
S (1)

A

sl (3)

slle.  (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 247 Question Id : 5330728494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R HE P

O gt \_55; (1)

Uﬁ_‘ ,_Qj._u.‘.\ (2)

Ol ale (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 248 Question Id : 5330728495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

: QATMJ‘:" L I;;-:II'L.....'

e 1)
s (2)
< (3)
J= (4)

Options :

1.1

2.2

3.3

4.4

Question Number : 249 Question Id : 5330728496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 250 Question Id : 5330728497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2bas (1)

(s

S S8 (2)
S sl (3)

\___91153 5 JL-‘ (4)

Options :
1.1
2.2
3.3
4.4

Question Id : 5330728492 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Question Pattern Type : NonMatrix

Question Numbers : (246 to 250)
Question Label : Comprehension
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Sub questions

Question Number : 246 Question Id : 5330728493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ QML";.L:,__? P o 0;1d;=+,’:AdAL5.".._;1_~ e | Y
S (1)

A

sl (3)

slle.  (4)
Options :
1.1
2.2
3.3
4.4

Question Number : 247 Question Id : 5330728494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R HE P

O gt \_55; (1)

Uﬁ_‘ ,_Qj._u.‘.\ (2)

Ol ale (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 248 Question Id : 5330728495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

: QATMJ‘:" L I;;-:II'L.....'

e 1)
s (2)
< (3)
Js (4)

Options :

1.1

2.2

3.3

4.4

Question Number : 249 Question Id : 5330728496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 250 Question Id : 5330728497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

§ ol gt e i s
L-"‘JJ IJJGJ_‘J (1)

S S8 (2)
S sl (3)

\___31-..-“/;} £ wa (4)

Options :
1.1
2.2
3.3
4.4
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